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Y=245 (dx=-7.3e-01, do=3.2e-01)

f=5, X=4001.9

Y=491 (dx=-4.1e-01, do=5.6e-02)

pfsArm
| ™ (x=4007.74, 0=1.18)

calExp
= (x=4007.01, 0=1.50)
— Residual*s

= Trace

pfsArm
1 === (x=4005.16, 0=1.15)

calExp
= (x=4004.75, 0=1.21)

e Residual*5

== Trace

1

Y=1228 (dx=-1.3e-01, do=4.9e-02)

Y=1473 (dx=-8.7e-02, do=-5.8e-02)

T pfsArm pfsArm

1 = (x=4000.35, 0=1.15) | =™ (x=3999.47, 0=1.15)

1 calExp 1 calExp
—(=400022, 0=1.20) = (x=3999.38, 0=1.09)

e Residual*5
= Trace

e Residual*5

Y=2210 (dx=-2.6e-02, do=2.3e-02)

Y=2456 (dx=-1.9e-02, do=3.8e-03)

I pfsArm I pfsArm
| ™ (x=3998.34,0=1.14) | =™ (x=3998.45 0=114)
1 calExp 1 calExp

= (x=3998.32, 0=1.16) - = (x=3998.43, 0=1.14)

e Residual*5
w— Trace

e Residual*5
= Trace

Y=3193 (dx=-6.1e-02, do=8.3e-04)

Y=3439 (dx=-1.2e-01, do=3.1e-02)

pfsArm
| ™ (x=4000.68, 0=1.14)

calExp
= (x=4000.62, 0=1.14)
= Residual*5
= Trace

T pfsArm
1 = (x=4002.22, 0=1.14)

calExp
- = (x=4002.10, 0=1.17)

e Residual*5
= Trace

3990 4000 4010

3990 4000 4010

Y=736 (dx=-2.7e-01, do=3.6e-02)

pfsArm
1 = (x=4003.12, 0=1.15)
- 1 calExp

= (x=4002.85, 0=1.19)
— Residual*s
== Trace

Y=1719 (dx=-1.2e-01, do=1.1e-02)

I pfsArm
| ™ (x=3998.85, 0=1.15)
1 calExp

= (x=3998.73, 0=1.16)

e Residual*5
= Trace

Y=2702 (dx=-3.9e-02, do=1.4e-02)

I pfsArm
| ™ (x=3998.87,0=1.14)
1 calExp

= (x=3998.83, 0=1.16)

e Residual*s

Y=3684 (dx=-1.0e-01, do=>5.6e-02)

pfsArm
1 = (x=4004.20, 0=1.14)

calExp
m—(x=4004.10, 0=1.19)
e Residual*s
= Trace

3990 4000 4010

Y=982 (dx=-2.2e-01, do=1.1e-02)

pfsArm
| ™ (x=400152, 0=1.16)

1 calExp
= (x=4001.30, 0=1.17)

e Residual*5
== Trace

Y=1965 (dx=-8.2e-02, do=5.3e-02)

I pfsArm
| ™ (x=3998.47, 0=1.14)
1 calExp
= (x=3998.39, 0=1.19)
e Residual*5
. = Trace

Y=2947 (dx=-3.0e-02, do=-2.4e-03)

pfsArm
| ™ (x=3999.59, 0=1.14)
1 calExp
- = (x=3999.55, 0=1.14)

e Residual*5

Y=3930 (dx=-1.8e-01, do=1.1e-01)

pfsArm
| ™ (x=4006.72, 0=1.14)

calExp
= (x=4006.54, 0=1.25)
m—Residual*s
- Trace

4020 3990 4000 4010 4020
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Y=245 (dx=-2.5e-01, do=4.2e-02)

f=9, X=3977.0

Y=491 (dx=-3.7e-01, do=9.3e-02)

Y=736 (dx=-2.3e-01, do=1.6e-02)

Y=982 (dx=-2.1e-01, do=-1.2e-02)

T pfsArm
| ™ (x=3982.56, 0=1.30)
calExp
= (x=3982.31, 0=1.35)
= Residual*5
w1 Trace

pfsArm
(x=3980.12, 0=1.18)

calExp
- (x=3979.75, 0=127)
m— Residual*s

== Trace

Y=1228 (dx=-2.0e-01, do=5.6e-02)

Y=1473 (dx=-5.4e-02, do=-1.1e-02)

pfsArm
| ™ (x=3975.40, 0=1.20)

calExp
= (x=3975.19, 0=1.25)
= Residual*5

= Trace

. T pfsArm
| ™ (x=3974.52,0=121)

calExp
— (x=3974.46, 0=1.20)
= Residual*5

Y=2210 (dx=-2.5e-02, do=3.1e-02)

Y=2456 (dx=-4.2e-02, do=1.7e-02)

T pfsArm pfsArm
| = (x=3973.41,0=1.17) | ™ (x=3973.50,0=118)

1 calExp 1 calExp
= (x=3973.38, 0=1.20) = (x=3973.46, 0=1.19)

e Residual*5

e Residual*5

e Residual*5

1 i

Y=3193 (dx=-7.5e-02, do=4.2e-02) Y=3439 (dx=-1.2e-01, do=1.9e-02)
pfsArm T pfsArm

| = (x=3975.63, 0=121) 1 = (x=3977.17, 0=1.15)

I r— (CEI:E;QP75.55, 0=1.25) I — (c:I:E;QP77.05, 0=1.17)

e Residual*5
= Trace

3960 3970 3980 3990

3970 3980 3990

T pfsArm
1 = (x=3978.13, 0=1.18)

calExp
= (x=3977.89, 0=1.19)

e Residual*5

== Trace

Y=1719 (dx=-7.2e-02, do=-9.8e-04)

pfsArm
| ™ (x=3973.82,0=133)
1 calExp

= (x=3973.75, 0=1.33)
= Residual*5
= Trace

Y=2702 (dx=-5.0e-02, do=-4.2e-02)

pfsArm

| = (x=3973.82, 0=1.30)
1 calExp

= (x=3973.77, 0=1.26)

e Residual*s
== Trace

Y=3684 (dx=-1.1e-01, do=1.4e-02)

T pfsArm
1 = (x=3979.10, 0=1.15)
| calExp

— (x=3978.99, 0=1.17)

- e Residual*s
= Trace

3970 3980 3990

pfsArm
| ™ (x=3976.53,0=123)

1 calExp
= (x=3976.32, 0=121)

e Residual*5
== Trace

Y=1965 (dx=-6.8e-02, do=1.8e-02)

fsArm
| ™ (x=3973.53,0=1.19)

1 calExp
= (x=3973.46, 0=121)

e Residual*5

Y=2947 (dx=-6.8e-03, do=-1.2e-02)

pfsArm

| ™ (x=3974.57,0=120)
1 calExp

= (x=3974.57, 0=1.19)

e Residual*5
== Trace

1

Y=3930 (dx=-5.3e-02, do=1.0e-01)
T pfsArm
1 m—(x=3981.51, 0=1.17)
] = (cf‘:E;gsus, 0=127)

- e Residual*5
== Trace

3970 3980 3990
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Y=245 (dx=-1.8e-01, do=-1.4e-01)

Y=491 (dx=-2.4e-01, do=7.1e-02)

f=10, X=3970.8

pfsArm
| = (x=3976.47,0=123)

calExp
= 3976 29, 0=1.08)

e Residual*s
= Trace

Y=736 (dx=-2.3e-01, do=3.4e-02)

pfsArm
| ™ (x=3973.90, 0=123)
calExp
_(x= 3973 66, 0=1.30)
m—Residual*s -1
== Trace

Y=1228 (dx=-7.8e-02, do=6.4e-02)

pfsArm
= (x=3971.91, 0=123)
calExp
- x= 3971 69, 0=1.27)
— Residual*s
== Trace

pfsArm
| ™ (x=3969.29, 0=123)

calExp
— (x=3969.21, 0=1.30)
e Residual*5

== Trace

pfs,
= (x=3968.42, 0=1.23)

calExp

= (x=3968.42, 0=1.19)
= Residual*5

= | Trace

!

pfsArm
= (x=3967.78, 0=1.24)

calExp
= (x=3967.72, 0=121)
= Residual*5

== Trace

pfsArm I
= (x=3967.32, 0=1.19) 1

calExp
—(x=3967.33, 0=1.18)
e Residual*5

pfsArm
= (x=3967.41, 0=1.20)

calExp
m—(x=3967.37, 0=123)
= Residual*5

-

pfsArm
= (x=3967.75, 0=1.23)

calExp
m—(x=3967.66, 0=1.22)
= Residual*5

- Trace

calExp
= (x=3969.50, 0=1.23)
= Residual*5
w | Trace

= | Trace = Trace
T 1 T T E-q T T T
Y=3193 (dx=-7.8e-03, do=1.8e-02) Y=3439 (dx=-1.3e-01, do=3.1e-02)
pfsArm T B pfsArm
= (x=3969.51, 0=121) 1 = (x=3970.94, 0=121)

Y=3684 (dx=-6.7e-03, do=-2.6e-02)

calExp
= (x=3970.81, 0=1.24)

3960 3970 3980

3960

T pfsArm
| = (x=3972.85,0=121)
calExp
= (x=3972.84, 0=1.18)
= Residual*s
= Trace

3970 3980 3960

3970

3980

Y=982 (dx=-2.0e-01, do=4.3e-02)

pfsArm
= (x=3970.42, 0=125)

calExp
_x= 397022 0=1.29)
= Residual*s
= == Trace

1 (x=A3967 44, 0=1.20)
calExp

= (x=3967.47, 0=1.17)

7| === Residual*s

== Trace

L

pfsArm
= (x=3968.47, 0=1.20)

calEx|

(x=3968.45, 0=1.18)
—| === Residual*5
w Trace

‘

pfsArm
= (x=3975.35, 0=1.20)

calExp

(x=3975.23, 0=1.29)
e Residual*s
— == Trace

!

3960 3970

3980

3990



f=12, X=3958.4

calexp Residual Shift measure
4000 - I - - 4000
T - 75 Qe
- 800 . .o
3500 . - : - 3500
- 50 o0
3000 i - - - 3000
- 600 s
3
2500 B - - - i 2500
_ 3 25 Lo :
X E ———Is °
ey = El= o
< 2000 400 4 | - {1 . 2000
= |
: B —25 [
1500 =3 § i 1500
2 4
200 = F >0 :
1000 . - 13 1000
d
500 1 =75 - . { 500
0 =
0 =200 . -100 . -6 . . 0
3950 3960 3950 3960 3950 3960 -10 0 10 5

X (pix) Chi+ - Chi- Chi at each row



Y=245 (dx=-2.0e-01, do=4.7e-01)

f=12, X=3958.4

Y=491 (dx=-4.6e-01, do=1.2e-01)

Y=736 (dx=-3.4e-01, do=4.6e-02)

Y=982 (dx=-2.3e-01, do=7.0e-02)

pfsArm
= (x=3964.02, 0=1.17)

calExp
= (x=3963.82, 0=1.64)
— Residual*s
== Trace

I
I
I- -
+
1

pfsArm
= (x=3961.48, 0=1.16)
. calExp
= (x=3961.01, 0=1.28)
e Residual*s
w | Trace

pfsArm T
= (x=3959.51, 0=1.16) 1
calExp 1

= (x=3959.17, 0=121)
m— Residual*s
== Trace

pfsArm
= (x=3958.02, 0=1.16)
calExp
= (x=3957.79, 0=1.23)
— Residual*s
== Trace

Y=1228 (dx=-2.4e-01, do=2.9e-02)

Y=1473 (dx=-1.3e-01, do=1.2e-02)

Y=1719 (dx=-1.7e-01, do=2.7e-02)

Y=1965 (dx=-1.1e-01, do=4.9e-02)

e Residual*5

i Trace

pfsArm I pfsArm
| = (x=3956.84, 0=1.16) T 1 = (x=3956.04, 0=1.15)
1 calExp 1 calExp
= (x=3956.60, 0=1.19) = (x=3955.90, 0=1.16)

e Residual*5
= Trace

fsArm
| ™ (x=3955.42,0=1.14)

1 calExp
= (x=3955.26, 0=1.17)
W Residual*5

w Trace

pfsArm
1 = (x=3955.06, 0=1.14)
1 calExp
= (x=3954.94, 0=1.18)

e Residual*5
= Trace

Y=2210 (dx=-5.4e-02, do=4.1e-02)

Y=2456 (dx=-7.8e-02, do=7.6e-03)

Y=2702 (dx=-8.8e-02, do=1.4e-02)

Y=2947 (dx=-7.5e-02, do=2.1e-02)

m—(x=3954.81, 0=1.18)
1 e Residual*5

. I pfsArm pfsArm
| ™ (x=3954.87,0=1.14) 1 = (x=3955.01, 0=1.13)

1 calExp calExp
= (x=3954.93, 0=1.14)

e Residual*5
= Trace

pfsArm

1 m—(x=3955.38, 0=1.13)
1 calExp

= (x=3955.29, 0=1.15)

e Residual*s
== Trace

1
Y=3193 (dx=-1.2e-01, do=1.4e-02)

Y=3439 (dx=-1.7e-01, do=2.7e-02)

Y=3684 (dx=-1.6e-01, do=2.7e-02)

pfsArm
1 = (x=3956.06, 0=1.14)
1 calExp

— (x=3955.99, 0=1.16)
e Residual*5
- Trace

1
Y=3930 (dx=-7.5e-02, do=6.5e-02)

- T pfsArm pfsArm
1 = (x=3957.09, 0=1.14) 1 = (x=3958.51, 0=1.13)

| calExp | calExp
= (x=3956.97, 0=1.15) = (x=3958.33, 0=1.16)

e Residual*5
| Trace

e Residual*5

e Residual*s
= Trace

3950 3960 3970

3950 3960 3970

pfsArm T pfsArm
1 = (x=3960.39, 0=1.14) | = (x=3962.78,0=1.14)
| calExp | calExp
= (x=3960.23, 0=1.16) = (x=3962.70, 0=1.20)

e Residual*5
== Trace

3950 3960 3970

3950 3960 3970
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Y=245 (dx=-4.1e-01, do=1.5e-01)

f=17, X=3927.1

Y=491 (dx=-2.2e-01, do=8.8e-02)

pfsArm
(x=3932.63, 0=1.16)

calExp
= (x=3932.22, 0=1.31)

T
|
I
e Residual*s
= Trace
. —
|
1

I_ u :I_I -

T pfsArm
1 = (x=3930.20, 0=1.16)

calExp
— (x=3929.99, 0=1.24)

e Residual*5
== Trace

Y=736 (dx=-5.5e-01, do=-4.5e-02)

Y=1228 (dx=-1.0e-01, do=-7.7e-02)

Y=1473 (dx=-7.3e-02, do=2.2e-02)

pfsArm
= (x=3928.29, 0=1.16)

T
calExp

= (x=3927.74, 0=1.11)

m— Residual*s

== Trace

Y=982 (dx=-2.0e-01, do=5.8e-02)

Y=1719 (dx=-3.2e-02, do=3.2e-02)

T pfsArm
| ™ (x=3926.79, 0=1.16)

1 calExp
— (x=3926.59, 0=1.21)

e Residual*5

e Residual*5
= Trace

e Residual*5
= Trace

Y=2210 (dx=-1.5e-02, do=5.3e-02)

Y=2456 (dx=-7.6e-02, do=6.2e-02)

pfsArm pfsArm T pfsArm
T | = (x=3925.68,0=1.16) | = (x=3924.84,0=117) 1 = (x=3924.29, 0=1.14)
1 calExp 1 calExp 1 calExp
= (x=3925.58, 0=1.08) - (x=3924.77, 0=1.19)

— (x=3924.26, 0=1.17)
= Residual*5
== Trace

Y=1965 (dx=-1.3e-01, do=>5.3e-02)

—(x=3923.71, 0=1.19)
= Residual*5
T - Trace

I pfsArm I pfsArm
| = x=392373,0=114) | = (x=3923.80, 0=1.15)
1 calExp calEx

m—(x=3923.73, 0=1.21)
e Residual*5
= Trace

AR

Y=2702 (dx=2.5e-02, do=2.1e-02)

pfsArm
| = (x=3923.87,0=1.15)

calExp
= (x=3923.74, 0=1.20)
e Residual*5

== Trace

Y=3193 (dx=-9.9e-02, do=-1.6e-02)

Y=3439 (dx=-1.6e-01, do=4.1e-02)

I pfsArm
1 = (x=3924.20, 0=1.13)
1 calExp

— (x=3924.23, 0=1.16)
= Residual*5

Y=2947 (dx=3.2e-03, do=9.8e-03)

e Residual*5
| Trace

| s

] T pfsArm T pfsArm
| = (x=3925.78,0=1.14) 1 — (x=3927.20, 0=1.14)

calExp | calExp
= (x=3925.69, 0=1.13) = (x=3927.05, 0=1.18)

e Residual*5
= Trace

Y=3684 (dx=-1.0e-01, do=1.5e-02)

pfsArm
| ™ (x=3924.80,0=1.14)

1 calExp
(x=3924.81, 0=1.15)
e Residual*5
== Trace

pfsArm
| ™ (x=3928.95,0=1.14)

calExp
= (x=3928.84, 0=1.16)
= Residual*5
- Trace

1
Y=3930 (dx=-8.5e-02, do=6.6e-02)

T pfsArm
1 m—(x=3931.34, 0=1.14)
| calExp

= (x=3931.26, 0=1.20)
q = Residual*5

3910 3920 3930 3940

3920 3930 3940

3920 3930 3940

3920 3930 3940
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Y=245 (dx=-7.7e-01, do=-3.9e-02)

f=25, X=3877.4

Y=491 (dx=-3.6e-01, do=7.9e-02)

T pfsArm
- | = (x=388273,0=1.16)
1 calExp

= (x=3881.97, 0=1.13)

e Residual*s
- —

= Trace
-

pfsArm
| ™ (x=3880.41,0=114)

calExp
= (x=3880.05, 0=1.22)
e Residual*5
== Trace

Y=1228 (dx=-1.8e-01, do=4.7e-02)

Y=1473 (dx=-9.7e-02, do=2.6e-02)

e Residual*5

T fsArm pfsArm
1 = (x=3876.13, 0=1.13) 1 = (x=3875.32, 0=1.13)
1 calExp 1 calExp

= (x=3875.96, 0=1.18) = (x=3875.22, 0=1.16)

e Residual*5
= Trace

Y=2210 (dx=-1.9e-02, do=2.6e-02)

1
Y=2456 (dx=-9.3e-03, do=1.7e-02)

e Residual*5
- w— Trace

pfsArm pfsArm

1 = (x=3874.20, 0=1.12) | = (x=387426,0=1.12)
1 calExp 1 calExp

m—(x=3874.18, 0=1.14) m—(x=3874.25, 0=1.14)

e Residual*5
= Trace

Y=3193 (dx=-7.8e-02, do=2.2e-02)

Y=3439 (dx=-1.3e-01, do=6.7e-03)

e Residual*5
| Trace

T T pfsArm T pfsArm
1 = (x=3876.10, 0=1.12) 1 = (x=3877.35, 0=1.12)

| calExp | calExp
= (x=3876.02, 0=1.14) = (x=3877.22, 0=1.13)

e Residual*5
= Trace

3860 3870 3880 3890

3870 3880 3890

Y=736 (dx=-2.2e-01, do=2.7e-02)

Y=982 (dx=-1.9e-01, do=2.1e-02)

pfsArm

- | = x=3878.58,0=1.15)

calExp
= (x=3878.36, 0=1.17)
m— Residual*s
== Trace

pfsArm
1 = (x=387720, 0=1.14)

1 calExp
= (x=3877.01, 0=1.16)

e Residual*5
== Trace

Y=1719 (dx=-7.2e-02, do=1.4e-02)

Y=1965 (dx=-6.5e-02, do=4.4e-02)

pfsArm
| ™ (x=387473,0=1.14)
calExp
- = (x=3874.65, 0=1.15)
= Residual*5
= Trace

I pfsArm
| ™ (x=3874.36,0=1.12)
1 calExp

= (x=3874.30, 0=1.16)

e Residual*5
= Trace

Y=2702 (dx=2.7e-03, do=-5.2e-03)

Y=2947 (dx=-1.1e-02, do=1.0e-03)

pfsArm
| = (x=3874.57,0=1.13)
1 calExp

= (x=3874.57, 0=1.12)

e Residual*s
. == Trace

pfsArm
1 = (x=3875.18, 0=1.12)
1 calExp

(x=3875.17, 0=1.12)
e Residual*5
== Trace

1
Y=3684 (dx=-1.1e-01, do=3.0e-02)

Y=3930 (dx=-4.4e-02, do=6.8e-02)

T pfsArm
1 = (x=3879.07, 0=1.12)
| calExp

= (x=3878.96, 0=1.15)

e Residual*s
. = Trace

T pfsArm
1 = (x=3881.25, 0=1.12)
| calExp

= (x=388121, 0=1.19)

e Residual*5
== Trace

3870 3880 3890

3870 3880 3890
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Y=245 (dx=-5.0e-01, do=1.2e-01)

f=42, X=3771.5

Y=491 (dx=-3.3e-01, do=8.5e-02)

pfsArm
= (x=3776.63, 0=1.16)

calExp
= (x=3776.13, 0=1.28)
e Residual*s
= Trace

pfsArm
| = (x=3774.51,0=1.15)

. 1 calExp
= (x=3774.18, 0=124)

e Residual*5
== Trace

Y=1228 (dx=-1.1e-01, do=1.1e-02)

Y=1473 (dx=-4.3e-02, do=-1.1e-02)

e Residual*5
= Trace

T fsArm T pfsArm
1 = (x=3770.59, 0=1.15) | ™ (x=3769.83,0=1.15)
1 calExp 1 calExp

E = (x=3770.48, 0=1.16) = (x=3769.78, 0=1.14)

- e Residual*5
= Trace

Y=2210 (dx=4.1e-03, do=1.3e-02)

Y=2456 (dx=2.4e-02, do=2.7e-02)

e Residual*5
w— Trace

T pfsArm pfsArm
| =™ (x=376871,0=113) | ™ (x=3768.72,0=113)
1 calExp - 1 calExp

= (x=3768.71, 0=1.14) (x=3768.75, 0=1.16)

e Residual*5
= Trace

e Residual*5
| Trace

1 1
Y=3193 (dx=-1.5e-02, do=-1.7e-02) Y=3439 (dx=-7.1e-02, do=-6.7e-03)
T pfsArm T pfsArm
1 m—(x=3770.26, 0=1.13) 1 m——(x=3771.35, 0=1.13)
N I r— ;:EI:E;7p7D.24, 0=1.12) 7 I — (c:I:E;7p71.28, 0=1.13)

e Residual*5
= Trace

3760 3770 3780

3760 3770 3780

Y=736 (dx=-2.3e-01, do=5.9e-03)

T pfsArm
| = (x=3772.84,0=1.16)

1 calExp
= (x=3772.61, 0=1.16)

= Residual*5
== Trace

Y=1719 (dx=-2.3e-02, do=-4.3e-03)

I pfsArm

. 1 == (x=3769.29, 0=1.14)
1 calExp

= (x=3769.27, 0=1.14)

e Residual*5
= Trace

Y=2702 (dx=2.0e-02, do=9.3e-03)

pfsArm
| ™ (x=3768.96,0=1.13)

-1 I calEx|

p
m—(x=3768.98, 0=1.14)
= Residual*5

- Trace

Y=3684 (dx=-3.5e-02, do=1.7e-02)

pfsArm
| = (x=3772.79,0=1.12)

| calExp

(x=3772.75, 0=1.14)
e Residual*s
= Trace

3760 3770 3780

Y=982 (dx=-1.5e-01, do=2.1e-02)

pfsArm
| ™ x=3771.57,0=1.15)

1 calExp
= (x=3771.42, 0=1.17)

e Residual*5
== Trace

Y=1965 (dx=-4.6e-02, do=2.7e-02)

. T pfsArm

| ™ x=3768.89,0=113)

1 calExp
= (x=3768.85, 0=1.16)

e Residual*5

== Trace

Y=2947 (dx=3.7e-02, do=-3.0e-02)

pfsArm
| ™ (x=3769.47,0=1.13)

. 1 calExp

= (x=3769.51, 0=1.10)
e Residual*5
== Trace

Y=3930 (dx=-2.4e-02, do=6.9e-02)

pfsArm
1 | ™ (x=377472,0=1.12)

| calExp
= (x=3774.70, 0=1.19)

e Residual*5
== Trace

3760 3770 3780 3790
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Y=245 (dx=-2.4e-01, do=1.8e-01)

f=106, X=3374.6

Y=491 (dx=-1.4e-01, do=2.4e-02)

Y=736 (dx=-7.1e-02, do=2.4e-02)

pfsArm
| ™ (x=3378.88,0=1.13)

1 calExp
= (x=3378.64, 0=1.31)

e Residual*s
= Trace

pfsArm
| = (x=3377.45,0=113)

1 calExp
= (x=3377.31, 0=1.16)

e Residual*5
== Trace

Y=1228 (dx=-3.3e-02, do=1.7e-02)

Y=1473 (dx=1.8e-02, do=1.3e-02)

T fsArm T pfsArm
| = (x=337453,0=113) | = (x=3373.88,0=1.13)
1 calExp 1 calExp

= (x=3374.50, 0=1.15) = (x=3373.90, 0=1.14)

e Residual*5
= Trace

e Residual*5
= Trace

1 1

Y=2210 (dx=5.8e-02, do=5.8e-02) Y=2456 (dx=6.1e-02, do=4.5e-03)
I pfsArm I pfsArm
| = x=337270,0=1.11) | = x=337257,0-111)
I pead r— ((:LE;;72 63, 0=1.12)

= (x=3372.76, 0=1.17)
= Residual*5
- Trace

e Residual*5
= Trace

1 1

Y=3193 (dx=4.2e-02, do=-3.9e-03) Y=3439 (dx=1.5e-02, do=-1.7e-04)
T pfsArm pfsArm
1 = (x=3373.16, 0=1.11) | = (x=337370,0=1.10)
I r— ;:EI:E;;73.ZD, 0=1.10) I — (c:I:E;Ep73 71, 0=1.10)

e Residual*5
| Trace

e Residual*5
= Trace

3360 3370 3380

3360 3370 3380

pfsArm
1 = (x=337628, 0=1.13)
1 calExp

= (x=3376.21, 0=1.15)
m— Residual*s
== Trace

Y=982 (dx=-4.6e-02, do=2.8e-02)

Y=1719 (dx=1.0e-02, do=1.1e-02)

pfsArm
1 = (x=3375.32, 0=1.13)
1 calExp
= (x=3375.28, 0=1.16)
m—_Residual*5
l w Trace

)

pfsArm
| =™ (x=337339,0=112)

calExp
-1 = (x=3373.40, 0=1.13)

e Residual*5
= Trace

Y=1965 (dx=3.7e-02, do=3.6e-02)

Y=2702 (dx=5.0e-02, do=1.2e-02)

I fsArm
| ™ x=3372.97,0=112)
1 calExp

= (x=3373.00, 0=1.16)

e Residual*5
= Trace

pfsArm

1 m—(x=3372.58, 0=1.11)
1 calExp
= (x=3372.63, 0=1.12)

e Residual*s
== Trace

Y=3684 (dx=2.9e-02, do=-1.4e-02)

1

Y=2947 (dx=6.0e-02, do=-1.2e-02)
I pfsArm
| ™ (x=337276,0=1.10)
I P 62, 0m1.00)

e Residual*5
== Trace

pfsArm
| = (x=3374.50, 0=1.11)

calExp
= (x=3374.53, 0=1.09)
= Residual*5
- Trace

Y=3930 (dx=6.9e-02, do=1.3e-02)

3360 3370 3380

pfsArm
| ™ (x=3375.59, 0=1.10)

calExp

(x=3375.66, 0=1.12)
e Residual*5
== Trace

3390 3360 3370 3380 3390
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Y=245 (dx=-1.4e-01, do=7.9e-02)

f=120, X=3288.1

Y=491 (dx=-6.9e-02, do=-1.0e-02)

Y=736 (dx=-6.3e-02, do=2.9e-02)

Y=982 (dx=3.8e-02, do=3.6e-03)

pfsArm
| ™ (x=320227,0=112)
calExp
- (x=3292.13, 0=1.20)
s Residual*s
= Trace

|
|
|
1
8

T pfsArm
| ™ (x=3290.90, 0=1.13)

calExp
= (x=3290.83, 0=1.12)

e Residual*5
== Trace

T pfsArm
| ™ x=3289.81,0=112)
1 calExp
= (x=3289.74, 0=1.15)
m—Residual*5
== Trace

pfsArm
| ™ (x=3288.89, 0=1.13)

calExp
= (x=3288.93, 0=1.13)
m— Residual*5

== Trace

Y=1228 (dx=-1.4e-02, do=1.5e-02)

Y=1473 (dx=3.2e-02, do=6.2e-03)

Y=1719 (dx=5.4e-02, do=1.6e-02)

Y=1965 (dx=3.6e-02, do=2.8e-02)

I pfsArm
1 = (x=3288.18, 0=1.12)

1 calExp
= (x=3288.16, 0=1.13)

e Residual*5

pfsArm
| ™ (x=3287.54,0=112)
1 calExp
= (x=3287.57, 0=1.13)
= Residual*5
= Trace

I pfsArm
1 = (x=3287.05, 0=1.11)
1 calExp

= (x=3287.11, 0=1.12)

e Residual*5
= Trace

pfsArm
| = (x=3286.62, 0=1.12)
1 calExp
= (x=3286.65, 0=1.14)
e Residual*5
= Trace

Y=2210 (dx=6.7e-02, do=1.3e-02)

Y=2456 (dx=7.3e-02, do=2.2e-02)

e Residual*5
w— Trace

pfsArm pfsArm

1 = (x=3286.33, 0=1.11) 1 = (x=3286.17, 0=1.10)
1 calExp 1 calExp

= (x=3286.40, 0=1.12) = (x=3286.25, 0=1.12)

e Residual*5
= Trace

1
Y=2702 (dx=4.3e-02, do=1.2e-02)
I pfsArm
1 = (x=3286.15, 0=1.10)
1 — calexp
(x=3286.20, 0=1.11)

e Residual*s
== Trace

1
Y=2947 (dx=7.2e-02, do=-4.6e-03)
I pfsArm
1 = (x=3286.28, 0=1.09)
1 — calexp
(x=3286.35, 0=1.09)

e Residual*5
== Trace

Y=3193 (dx=5.5e-02, do=-8.2e-03)

Y=3439 (dx=-2.1e-01, do=2.3e-01)

Y=3684 (dx=9.0e-02, do=1.2e-03)

'Y=3930 (dx=9.8e-02, do=4.2e-02)

pfsArm
| ™ (x=3286.56, 0=1.09)

| calExp

(x=3286.61, 0=1.09)
e Residual*5
| Trace

T pfsArm
1 = (x=3287.05, 0=1.10)

calExp

(x=3286.85, 0=1.33)
e Residual*5
= Trace

Lo, S

pfsArm
| = (x=3287.70, 0=1.10)

| calExp

= (x=3287.79, 0=1.10)
e Residual*s

= Trace

pfsArm
| ™ (x=3288.65,0=1.10)

| calExp

= (x=3288.75, 0=1.14)
m—Residual*s
- Trace

3270 3280 3290 3300

3280 3290 3300

3280 3290 3300

3280 3290 3300
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Y=245 (dx=-6.2e-02, do=-3.5e-02)

f=170, X=2978.8

Y=491 (dx=-5.7e-02, do=-1.6e-02)

Y=736 (dx=2.4e-02, do=-1.7e-04)

Y=982 (dx=-4.6e-02, do=1.9e-02)

pfsArm pfsArm
| = x=298272,0=111) | = (x=2981.70, 0=1.10)
1 calExp 1 calExp
= (x=2982.66, 0=1.07) = (x=2981.65, 0=1.09)

e Residual*s
= Trace

e Residual*5
== Trace

T pfsArm
| =™ (x=2980.80, 0=1.11)

1 calExp
= (x=2980.83, 0=1.11)

= Residual*5
== Trace

pfsArm
1 = (x=2980.06, 0=1.10)

1 calExp
= (x=2980.02, 0=1.12)

e Residual*5
== Trace

Y=1228 (dx=2.2e-02, do=2.1e-02)

Y=1473 (dx=4.6e-02, do=2.1e-02)

Y=1965 (dx=7.7e-02, do=1.1e-02)

pfsArm I pfsArm
1 = (x=2979.37, 0=1.10) | = (x=2978.76,0=1.10)
1 calExp 1 calExp
- (x=2979.39, 0=1.12) - (x=2978.81, 0=1.12)

e Residual*5
= Trace

e Residual*5
= Trace

1

Y=1719 (dx=7.0e-02, do=9.2¢-03)
I pfsArm
1 = (x=2978.28, 0=1.10)
1 calExp

= (x=2978.35, 0=1.11)
e Residual*5
= Trace

pfsArm
| = (x=2977.82, 0=1.09)

1 calExp
— (x=2977.89, 0=1.10)

e Residual*5

Y=2702 (dx=9.5e-02, do=2.3e-02)

Y=2947 (dx=1.2e-01, do=-1.9e-02)

1
Y=2210 (dx=8.2e-02, do=4.2e-02) Y=2456 (dx=8.0e-02, do=1.3e-02)
I pfsArm I pfsArm
| = (x=2977.47,0=1.09) 1 = (x=297721, 0=1.09)
1 — ((:Lszgp77.55, 0=1.13) 1 [ ((:LE;;W 29, 0=1.11)

e Residual*5
w— Trace

e Residual*5
= Trace

pfsArm
1 = (x=2977.05, 0=1.09)
1 calExp

—(x=2977.14, 0=1.11)
e Residual*s
= Trace

pfsArm

| ™ (x=2976.96, 0=1.09)
1 calExp

= (x=2977.08, 0=1.07)

e Residual*5
== Trace

Y=3193 (dx=7.4e-02, do=-1.4€-02)

Y=3439 (dx=8.9e-02, do=-2.4e-02)

Y=3684 (dx=8.1e-02, do=-7.9e-03)

pfsArm
1 = (x=2977.06, 0=1.08)

calExp

(x=2977.13, 0=1.07)
e Residual*5
| Trace

T
1

pfsArm
1 = (x=2977.25, 0=1.08)

calExp

(x=2977.33, 0=1.06)
e Residual*5
= Trace

pfsArm
| ™ (x=2977.56,0=1.07)

calExp
= (x=2977.64, 0=1.07)
= Residual*5

1
1
——— I—
T T L T T
Y=3930 (dx=1.0e-01, do=-3.7e-02)
T pfsArm
1 = (x=2978.08, 0=1.08)
| — (cxa‘:E;;m.lg, 0=1.05)

e Residual*5
== Trace

2970 2980 2990

2970 2980 2990

2970 2980 2990

2970 2980 2990
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Y=245 (dx=1.8e-01, do=-2.7e-01)

f=175, X=2948.0

Y=491 (dx=1.4e-02, do=-1.7e-02)

T pfsArm
| ™ (x=2951.89,0=1.12)
1 calExp

= (x=2952.07, 0=0.86)
s Residual*s
= Trace

T pfsArm
| ™ (x=2950.90, 0=1.11)

1 calExp
= (x=2950.91, 0=1.10)

e Residual*5
== Trace

e Residual*5
= Trace

1
Y=1228 (dx=4.6e-02, do=1.5e-02) Y=1473 (dx=4.4e-02, do=4.6e-02)
T
| ?;s:Argrge.sg, 0=1.10) 1 — ?Iigr;‘ss.oA, 0=1.09)
7] I e 064 0-112) E I e 00608, 0-110

e Residual*5
= Trace

e Residual*5
w— Trace

1 1
Y=2210 (dx=6.9e-02, do=2.3e-02) Y=2456 (dx=6.3e-02, do=2.5e-02)
I pfsArm pfsArm
i | ™ (x=2946.69, 0=1.09) | ™ (x=2946.42, 0=1.09)
| — (cfggaejs, 0=1.12) 7 I [ ((:LE;QPASAQ, 0=1.12)

e Residual*5
= Trace

e Residual*5
| Trace

Y=3193 (dx=8.1e-02, do=1.2e-02) Y=3439 (dx=6.2e-02, do=-1.6e-02)
T pfsArm pfsArm
| = (x=2946.23,0=1.08) | =™ (x=2946.38, 0=1.08)
7 I r— ;:EI:EZXQPIISSL 0=1.09) 7 I — (c:I:EZ)(9p46.44, 0=1.07)

e Residual*5
= Trace

2930 2940 2950 2960

2930 2940 2950 2960

Y=736 (dx=-1.0e-02, do=1.8e-02)

Y=982 (dx=9.0e-03, do=-1.1e-03)

pfsArm
1 = (x=2950.06, 0=1.10)
1 calExp

= (x=2950.05, 0=1.12)
m— Residual*s
== Trace

T pfsArm
| ™ (x=294928,0=1.10)

1 calExp
= (x=2949.29, 0=1.10)

e Residual*5
== Trace

Y=1719 (dx=7.6e-02, do=-1.4e-03)

pfsArm
| ™ (x=2947.51,0=110)

1 calExp
— (x=2947.58, 0=1.10)

= Residual*5

== Trace

1

Y=1965 (dx=8.2e-02, do=2.5e-02)
I pfsArm
1 = (x=2947.09, 0=1.09)
| — (?3547,17, 0=1.11)

e Residual*5
= Trace

Y=2702 (dx=7.5e-02, do=2.7e-02)

I pfsArm
1 = (x=2946.25, 0=1.09)

_ 1 calExp
= (x=2946.33, 0=1.11)

e Residual*s
== Trace

1

Y=2947 (dx=8.3e-02, do=-2.5€-03)
I pfsArm
1 = (x=2946.18, 0=1.08)
I 27 0m108)

e Residual*5
== Trace

Y=3684 (dx=1.0e-01, do=-4.0e-02)

Y=3930 (dx=9.0e-02, do=1.4e-02)

T pfsArm
| ™ (x=2946.67, 0=1.08)

| calExp

= (x=2946.77, 0=1.04)
= Residual*5
- Trace

T pfsArm
1 = (x=2947.16, 0=1.08)

| calExp

= (x=2947.25, 0=1.09)
m—Residual*s
- Trace

2930 2940 2950 2960

2940 2950 2960
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Y=245 (dx=1.5e-01, do=-4.8e-01)

=194, X=2830.6

Y=491 (dx=-1.6e-02, do=-4.4e-02)

Y=736 (dx=-3.7e-02, do=7.7e-02)

Y=982 (dx=4.3e-02, do=-3.1e-02)

pfsArm T T pfsArm

= (x=2834.52, 0=1.11) 1 | = (x=2833.62,0=1.11)
calExp 1 calExp

= (x=2834.67, 0=0.62) - = (x=2833.60, 0=1.07)

7| m— Residual*s
= Trace

Y=1228 (dx=7.2e-02, do=-5.6e-03)

e Residual*5
== Trace

T pfsArm
| = (x=283278,0=1.11)

1 calExp
= (x=2832.74, 0=1.18)

e Residual*5

T pfsArm
1 = (x=2832.09, 0=1.10)

1 calExp
= (x=2832.14, 0=1.07)

e Residual*5

Y=1473 (dx=1.1e-01, do=-8.0e-03)

Y=1719 (dx=8.7e-01, do=1.2e-01)

Y=1965 (dx=1.0e-01, do=1.0e-02)

pfsArm
| ™ (x=2831.42,0=1.10)

calExp
= (x=2831.49, 0=1.10)
= Residual*5

T fSArm
| ™ (x=283082,0=110)
calExp
= (x=2830.93, 0=1.09)
= Residual*5
= Trace

pfsArm
= (x=2830.34, 0=1.09)

calExp
= (x=2831.22, 0=121)
= Residual*5

== Trace

|
|
|
1
1
T
1

pfsArm
| ™ (x=2829.86, 0=1.09)

1 calExp
— (x=2829.96, 0=1.10)

e Residual*5

== Trace

Y=2210 (dx=6.4e-02, do=1.9e-02)

Y=2456 (dx=7.7e-02, do=2.4e-03)

Y=2702 (dx=1.4e-01, do=-4.6e-02)

Y=2947 (dx=1.1e-01, do=1.2e-02)

I pfsArm I pfsArm
| = (x=2829.49,0=1.08) 1 = (x=2829.18, 0=1.09)
1 calExp 1 calExp

= (x=2829.55, 0=1.10) = (x=2829.26, 0=1.09)

e Residual*5
w— Trace

e Residual*5

I pfsArm
| ™ (x=2828.92,0=1.09)

calExp
m—(x=2829.06, 0=1.04)
e Residual*s

= Trace

pfsArm
| ™ (x=282879,0=1.08)

calExp
= (x=2828.89, 0=1.09)
e Residual*5

== Trace

Y=3193 (dx=1.4e-01, do=1.9e-03)

Y=3439 (dx=1.0e-01, do=-2.9e-02)

Y=3684 (dx=1.0e-01, do=2.1e-03)

Y=3930 (dx=9.1e-02, do=-1.1e-03)

pfsArm
| = (x=2828.75,0=1.07)

| calExp

(x=2828.89, 0=1.08)
e Residual*5
| Trace

T pfsArm
| ™ (x=2828.82,0=1.08)

calExp

(x=2828.92, 0=1.05)
e Residual*5
= Trace

T pfsArm
1 = (x=2829.03, 0=1.08)

| calExp

= (x=2829.13, 0=1.09)
e Residual*s
= Trace

pfsArm
| = (x=2829.34,0=1.07)

calExp
= (x=2829.43, 0=1.07)
m—Residual*s
- Trace

T
1
T

2820 2830 2840

2820 2830 2840

2830 2840

2820

2820 2830 2840
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f=222, X=2657.9

Y=245 (dx=-2.4e-01, do=2.3e-01) Y=491 (dx=2.0e-01, do=-6.6e-02) Y=736 (dx=-4.0e-02, do=-1.0e-01) Y=982 (dx=-4.6e-01, do=-4.9e-01)

T pfsArm T T pfsArm T pfsArm T pfsArm
I ™ (x=2660.06, 0=2.00) 1 = (x=2660.13, 0=2.08) 1 = (x=2659.02, 0=2.05) - | ™ x=2657.78,0=1.97)
1 calExp calExp 1 calExp 1 calExp
— (x=2659.82, 0=2.23) = (x=2660.33, 0=2.02) . = (x=2658.98, 0=1.95) = (x=2657.31, 0=1.48)
_ I Residuars m— Residual*s — Residual*s I Residuars
- Trace _ - Trace - Trace 1 - Trace
L ] |
i - i -—H - : i |J:|- L L i irﬂlfr I I
f 1 |

Y=1228 (dx=-3.0e-01, do=-2.1e-01) Y=1473 (dx=-3.8e-01, do=-2.6e-01) Y=1719 (dx=-3.9e-01, do=-2.7e-01) Y=1965 (dx=-3.2e-01, do=-2.0e-01)

T pfsArm T pfsArm - T pfsArm
B | = (x=2656.28, 0=1.83) | = (x=2657.00, 0=2.00) | = (x=2655.28,0=1381)
1 calExp 1 calExp 1 calExp —
L —(x=2655.97, 0=1.62) = (x=2656.61, 0=1.74) L = (x=2654.90, 0=1.54)
- I e Residual*5 I e Residual*5 I e Residual*5
I = Tace - (] - Trace . I = Tace
| I | -
| 1 |
L
] = J AL -HE ] — - - TP _
1 1

Y=2210 (dx=-2.1e-01, do=-1.7e-01) Y=2456 (dx=-4.7e-01, do=-1.6e-01) Y=2702 (dx=1.5e-02, do=-9.3e-02) Y=2947 (dx=-2.4e-01, do=-2.1e-01)

T pfsArm 7] pfsArm pfsArm I pfsArm
- 1 = (x=2656.18, 0=2.00) = (x=2654.91, 0=1.95) = (x=2655.07, 0=1.98) 1 = (x=2655.12, 0=2.00)
1 calExp calExp calExp 1 calExp
= (x=2655.97, 0=1.83) == (x=2654.44, 0=179) = (x=2655.09, 0=1.88) = (x=2654.88, 0=1.79)
I = Residual*5 == Residual*5 = Residual*5 I e Residual*5
1 - Trace . - Trace - Trace 1 - Trace
T | - 11
- H |
4 i 7 "":I"F'-" 4 = _._-ﬂ.}..- Jad-_L_d_-} =
1 1 1

3.1e-01, do=-1.5e-01) Y=3439 (dx=-2.6e-01, do=-5.9e-02) Y=3684 (dx=-2.7e-01, do=-1.4e-01) Y=3930 (dx=-1.9e-01, do=-2.5e-01)

. u T pfsArm T pfsArm
| = (x=265324,0=178) = (x=2653.36, 0=1.82)
| calExp calExp
L = (x=2652.93, 0=1.63) = (x=2653.09, 0=1.76)
I = Residual*5 = Residual*5
I = Tace - Trace
i . . @ﬁr:g.‘:b. ﬂ_ - i ——
1 1 ”
T T

2640 2650 2660 2670 2640 2650 2660 2670 2640 2650 2660 2670 2640 2650 2660 2670

pfsArm
= (x=2655.94, 0=1.99)

calExp
= (x=2655.63, 0=1.79)
e Residual*5

== Trace

=<

I
W
[
O
w
Q|
x

Il

l

pfsArm pfsArm
= (x=2653.60, 0=1.91) = (x=2655.14, 0=2.02)

calExp
= (x=2654.94, 0=1.78)

T
|
calExp |
(x=2653.33, 0=1.77)
| e Residual*s
|
|
1

T

|

I

I = Residual*5
I = Tace
|

|

1

== Trace
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Y=245 (dx=-1.2e-02, do=6.0e-02)

f=223, X=2651.7

Y=491 (dx=7.1e-03, do=-2.1e-02)

Y=736 (dx=1.4e-02, do=1.6e-03)

T pfsArm
| ™ (x=2655.58, 0=1.10)

1 calExp
- (x=2655.57, 0=1.16)

e Residual*s
= Trace

T pfsArm
| =™ (x=2654.79, 0=1.09)

1 calExp
= (x=2654.80, 0=1.07)

e Residual*5
== Trace

pfsArm
1 = (x=2654.07, 0=1.09)
1 calExp

= (x=2654.09, 0=1.09)

e Residual*5

== Trace

Y=982 (dx=5.5e-03, do=2.9e-03)

Y=1228 (dx=1.8e-02, do=1.8e-02)

Y=1473 (dx=4.4e-02, do=1.4e-02)

Y=1719 (dx=6.1e-02, do=1.3e-02)

T pfsArm
| ™ (x=265337,0=1.09)

1 calExp
= (x=2653.38, 0=1.10)

e Residual*5
== Trace

I pfsArm I pfsArm
| ™ (x=2652.72,0=1.09) 1 = (x=2652.19, 0=1.08)
1 calExp 1 calExp

— (x=2652.74, 0=1.11) = (x=2652.23, 0=1.10)

e Residual*5
= Trace

e Residual*5
= Trace

I pfsArm
| ™ (x=2651.65,0=1.08)
1 calExp
= (x=2651.71, 0=1.09)
= Residual*5
= Trace

Y=2210 (dx=7.8e-02, do=2.9e-02)

Y=2456 (dx=9.6e-02, do=4.3e-03)

Y=2702 (dx=7.8e-02, do=-4.9e-03)

1

Y=1965 (dx=7.4e-02, do=1.3e-02)
I pfsArm
1 = (x=2651.19, 0=1.07)
| — (?‘:?6"51427,0:1409)

e Residual*5
= Trace

pfsArm
| ™ (x=2650.74,0=1.07)

1 calExp
= (x=2650.82, 0=1.10)
e Residual*5

w— Trace

pfsArm
| ™ (x=2650.38 0=1.07)
1 calExp

== (x=2650.48, 0=1.07)

== Residual*5

- Trace

pfsArm
1 = (x=2650.08, 0=1.07)
1 calExp
= (x=2650.16, 0=1.06)
= Residual*5
- Trace

Y=2947 (dx=8.8e-02, do=-1.3e-02)

T
T II T
Y=3684 (dx=8.1e-02, do=-2.3e-02)

I pfsArm
| ™ x=2649.82,0=1.07)
1 calExp

= (x=2649.90, 0=1.05)

e Residual*5
== Trace

1 1
Y=3193 (dx=8.3e-02, do=-9.8e-03) Y=3439 (dx=7.9e-02, do=-4.4e-03)
T pfsArm T pfsArm
I = (x=2649.67, 0=1.06) I = (x=2649.59, 0=1.06)
e calExp | calExp
(x=2649.75, 0=1.05) (x=2649.67, 0=1.05)

e Residual*5
| Trace

e Residual*5
= Trace

T pfsArm
| ™ (x=2649.60, 0=1.06)

calExp
= (x=2649.68, 0=1.03)
= Residual*5
- Trace

1

Y=3930 (dx=1.0e-01, do=-1.1e-02)
T pfsArm
| ™ (x=2649.71, 0=1.06)
1 — (cxa‘:E;gzw.Bz, 0=1.05)

e Residual*5
== Trace

2640 2650 2660

2640 2650 2660

2640 2650 2660

2640 2650 2660
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Y=245 (dx=5.4e-01, do=-1.4e-01)

f=224, X=2645.5

Y=491 (dx=6.2e-01, do=-4.8e-01)

:

| hat

- (x 2649 69, 0=2.26)

Exp.
- lx=2650.22, 0=2.12)
= Residual*5

= Trace

-

calExp

= Trace

pfsArm
= (x=2648.57, 0=2.26)

_(x= 2549 19, 0=1.78)
| == Residual*5

Y=1228 (dx=1.0e-01, do=-2. 8e- 01)

Y=1473 (dx=3.4

7| == Residual*s
= Trace

pfsArm
= (x=2646.67, 0=2.09)

calExp
— (x=2646.77, 0=1.81)

#

-1 pfsArm
= (x=2647.00, 0=2.10)

w— Trace

calExp
= (x=2647.34, 0=1.88)
7| == Residual*s

[

= == Trace

Y=2210 (dx=2.0e- 01,'do=-1.2e-0'1)

Y=2456 (dx=-4.6e-01, do=4.0e-01)

pfsArm
calExj

= Residual*5
w— Trace

= (x=2644.86, 0=1.91)

I
p
= (x=2645.07, 0=1.80) I

pfsArm
calExp

e Residual*5
w— Trace

= (x=2645.85, 0=1.04)

= (x=2645.39, 0=1.44)

Y=3193 (dx=5.8e-01, do=-4.9e-01)

Y=3439 (dx=-2.2e-01, do=-1.2e-01)

pfsArm

= Residual*5

= == Trace
L

= (x=2643.63, 0=2.10)

calExp
= (x=2644.21, 0=1.61)

e Residual*5

| = Trace

pfsArm
= (x=2643.99, 0=2.09)

calExp
= (x=2643.76, 0=1.97)

-

2630

2640 2650

2630

2640

2650

Y=736 (dx=-1.4e-01, do=-5.0e-02)

calExp

e Residual*5
== Trace

pfsArm
= (x=2647.91, 0=1.93)

= (x=2647.77, 0=1.88)

Y=1719 (dx=2.0e-02, do=-1.4e-02)

pfsArm

e Residual*5

— (x 2646.11, 0=1.87)

— (x=264s,13, 0=1.86)

Y=2702 (dx=-4.7e-02, d

|

pfsArm

calExp

e Residual*5

| == Trace

= (x=2643.97, 0=1.84)

= (x=2643.92, 0=1.90)

) |

Y=3684 (dx=-2.4e-01, do=-9.1e-02)

== Trace

pfsArm
= (x=2643.85, 0=1.94)

calExp
= (x=2643.60, 0=1.85)
| == Residual*5

B

ﬂ_

L Ir

2630

2640

2650

Y=982 (dx=3.9e-01,

do=-2.7e-01)

pfsArm
= (x=2647.79, 0=2.14) 1
a calExp 1
= (x=2648.18, 0=1.87)
m—Residual*s 1
w Trace l
B |
1 BB -
I 1 T
Y=1965 (dx=1.3e-01, do=-1.9e-01)
-1 pfsArm I
= (x=2645.97, 0=1.93) 1
calExp 1
= (x=2646.11, 0=1.75)
= Residual*5 I
- Trace ]
1

Y=2947 (dx=7.7e-01,

do=-4.0e-01)

pfsArm

= (x=2643.38, 0=222) 1
calExp 1

= (x=2644.15, 0=181)

e Residual*5 I

- Trace

E

pfsArm
= (x=2643.51, 0=2.26) 1

calExp
= (x=2643.95, 0=1.73)
== Residual*s
| = Trace
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Y=245 (dx=-2.4e-01, do=2.0e-01)

f=240, X=2546.8

Y=491 (dx=-4.6e-02, do=-8.1e-03)

pfsArm pfsArm
| = (x=255063,0=1.11) | = (x=2549.90, 0=1.10)
1 calExp 1 calExp
= (x=2550.38, 0=1.31) = (x=2549.85, 0=1.10)
s Residual*s m— Residual*s
- Trace - = Trace
| 1 |
| 1 1
- _ -

Y=1228 (dx=6.2e-02, do=3.0e-02)

Y=1473 (dx=6.8e-02, do=1.4e-02)

T fsArm
| = (x=2547.91,0=110)

calExp
— (x=2547.97, 0=1.13)
= Residual*5

= Trace

pfsArm
| ™ (x=2547.38,0=1.08)

calExp
= (x=2547.45, 0=1.10)
= Residual*5

= Trace

Y=2210 (dx=7.5e-02, do=2.1e-02)

Y=2456 (dx=1.0e-01, do=2.8e-02)

I pfsArm . I pfsArm

| = x=2545.90,0=1.07) | ™ (x=2545.51,0=1.06)

1 calExp calExp
m—(x=2545.61, 0=1.09)

m—(x=2545.97, 0=1.09)
e Residual*5
w— Trace

e Residual*5

Y=3193 (dx=9.7e-02, do=3.0e-04)

Y=3439 (dx=8.1e-02, do=3.1e-03)

pfsArm
| = (x=2544.63, 0=1.06)

calExp
= (x=2544.73, 0=1.06)
= Residual*5
= Trace

*—I

pfsArm

| ™ (x=2544.49, 0=1.05)
calExp

= (x=2544.57, 0=1.05)

e Residual*5
1 - Trace

I — e

2530

2540 2550 2560

2530

2540 2550 2560

Y=736 (dx=3.3e-02, do=2.4e-02)

-1 T pfsArm
1 = (x=2549.23, 0=1.09)

1 calExp
— (x=2549.26, 0=1.12)

= Residual*5
== Trace

Y=1719 (dx=3.8e-02, do=2.0e-02)

T fsArm
| ™ (x=2546.83, 0=1.08)
1 calExp

i = (x=2546.87, 0=1.10)

e Residual*5
= Trace

1
Y=2702 (dx=7.1e-02, do=-4.7e-03)
I pfsArm
1 = (x=2545.17, 0=1.06)
I e (50 05, 0105

- e Residual*s

== Trace

Y=3684 (dx=8.7e-02, do=9.4e-03)

pfsArm
| ™ (x=2544.40, 0=1.05)

calExp
= (x=2544.49, 0=1.06)
= Residual*5
- Trace

2530 2540 2550

2560

Y=982 (dx=-4.0e-02, do=-2.6e-02)

pfsArm
| ™ (x=2548.54,0=1.10)

calExp
= (x=2548.50, 0=1.07)

e Residual*5

Y=1965 (dx=5.0e-02, do=1.1e-02)

pfsArm
| ™ (x=2546.37,0=1.07)

calExp
= (x=2546.42, 0=1.08)
e Residual*5

== Trace

Y=2947 (dx=9.8e-02, do=-3.4e-02)

I pfsArm
| ™ (x=2544.85,0=1.06)
1 calExp

= (x=2544.95, 0=1.03)

e Residual*5
== Trace

Y=3930 (dx=8.8e-02, do=-8.8e-02)

pfsArm
| ™ (x=2544.40, 0=1.05)

calExp
= (x=2544.49, 0=0.96)
m—Residual*s
- Trace

2530

2540 2550 2560
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Y=245 (dx=4.2e-02, do=-3.3e-01)

f=243, X=2528.3

Y=491 (dx=-6.5e-02, do=-3.6e-02)

T pfsArm
1 = (x=2532.22, 0=1.11)

calExp
= (x=2532.26, 0=0.78)

e Residual*s
= Trace

T pfsArm
| ™ (x=2531.50,0=110)

1 calExp
= (x=2531.43, 0=1.06)

e Residual*5
== Trace

Y=1228 (dx=3.1e-02, do=-3.4e-02)

Y=1473 (dx=5.7e-02, do=-3.8e-02)

e Residual*5
-1 = Trace

pfsArm N I pfsArm
| = (x=2529.52,0=1.10) 1 = (x=2529.00, 0=1.09)
1 calExp 1 calExp
= (x=2529.55, 0=1.06) = (x=2529.05, 0=1.05)

e Residual*5
= Trace

1
Y=2210 (dx=8.6e-02, do=4.3e-03) Y=2456 (dx=9.4e-02, do=3.6e-03)
- I pfsArm I pfsArm
| ™ (x=2527.51,0=1.07) 1 = (x=2527.12, 0=1.07)
1 — ((:Lszspz7.59, 0=1.08) 1 [ ((:Lszspn 21, 0=1.07)

e Residual*5
w— Trace

e Residual*5
. = Trace

e Residual*5
| Trace

1
Y=3193 (dx=6.5e-02, do=-1.2e-02) Y=3439 (dx=6.7e-02, do=-1.9e-02)
T pfsArm T pfsArm
| = (x=2526.21, 0=1.06) 1 = (x=2526.05, 0=1.06)
I = (CEI:szspzs.zs, 0=1.05) I r— (CSI:E;;)ZG 12, 0=1.04)

e Residual*5
= Trace

2510 2520 2530 2540

2510 2520 2530 2540

Y=736 (dx=-7.5e-03, do=3.2e-02)

T pfsArm
| ™ (x=253078,0=111)

- 1 calExp
= (x=2530.77, 0=1.14)

= Residual*5
== Trace

Y=1719 (dx=8.1e-02, do=1.1e-02)

pfsArm
| ™ (x=2528.45,0=1.08)

calExp
= (x=2528.53, 0=1.09)
= Residual*5

== Trace

Y=2702 (dx=1.1e-01, do=-6.6e-03)

pfsArm

| ™ (x=2526.73,0=1.07)
1 calExp

m—(x=2526.84, 0=1.06)

e Residual*s
== Trace

1
Y=3684 (dx=9.1e-02, do=1.7e-03)
. T pfsArm
| ™ (x=2525.91, 0=1.06)
I — (CEI:E;spze.oo, 0=1.07)

1 e Residual*s
= Trace

2510 2520 2530 2540

Y=982 (dx=1.8e-03, do=-4.4e-02)

- pfsArm
1 = (x=2530.16, 0=1.10)
calExp
= (x=2530.16, 0=1.06)
-1 m—_Residual*5
l w Trace
|
7] |
T II T
Y=1965 (dx=1.2e-01, do=-2.2e-02)
T

fsArm
| ™ (x=2527.94,0=1.08)

calExp
1 = (x=2528.06, 0=1.06)
e Residual*5
== Trace

Y=2947 (dx=6.9e-02, do=-2.2€-02)

I pfsArm
| ™ (x=2526.44, 0=1.06)

calExp
—(x=2526.51, 0=1.04)
e Residual*5

- Trace

Y=3930 (dx=1.0e-01, do=7.1e-03)

T T pfsArm

| = (x=2525.89, 0=1.07)
calExp

= (x=2525.99, 0=1.07)

e Residual*5
== Trace

2510 2520 2530 2540
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Y=245 (dx=-1.2e-02, do=6.9e-02)

f=277, X=2318.6

Y=491 (dx=4.9e-02, do=-2.1e-02)

pfsArm
= (x=2322.50, 0=1.13) 1

calExp
= (x=2322.49, 0=1.20)

w— Residual*s
| = Trace

Y=1228 (dx=-4.0e-03, do=-4.5€-02)

T pfsArm
| = x=2321.91,0=112)

- calExp
= (x=2321.96, 0=1.10)

e Residual*5
== Trace

Y=1473 (dx=6.1e-01, do=-1.8e-01)

fsArm
1 = (x=2320.12, 0=1.11)

1 calExp
= (x=2320.12, 0=1.07)
= Residual*5
= Trace

pfsArm
= (x=2319.54, 0=1.11)
calExp
= (x=2320.15, 0=0.93)
= Residual*5
w Trace

e Residual*5
w— Trace

1 1
Y=2210 (dx=4.6e-02, do=-1.6e-03) Y=2456 (dx=3.9e-02, do=-2.2e-02)
I pfsArm I pfsArm
1 = (x=2318.04, 0=1.09) i | ™ (x=2317.53,0=1.08)
7] I [r— ((:|=sz3'315,08, 0=1.09) I r— ((:LE;;U 57, 0=1.06)

e Residual*5
= Trace

Y=3193 (dx=4.9e-02, do=-4.1e-02)

Y=3439 (dx=2.6e-02, do=-7.1e-03)

e Residual*5
| Trace

pfsArm T pfsArm

. | = (x=2316.34,0=1.07) T 1 = (x=2316.02, 0=1.07)
| calExp | calExp

= (x=2316.39, 0=1.03) = (x=2316.04, 0=1.07)

e Residual*5
= Trace

T
1

2300 2310 2320 2330

2300 2310 2320 2330

Y=736 (dx=3.9e-02, do=-2.9e-02)

-1 T pfsArm
| ™ x=2321.32,0=112)
1 calExp

= (x=2321.36, 0=1.09)
e Residual*5

1
Y=1719 (dx=3.9e-02, do=-1.2e-02)
T
- 1 [— F:s:Arsrqgos, 0=1.10)
| = (cffzxapw‘og, 0=1.09)

e Residual*5
= Trace

1
Y=2702 (dx=5.2e-02, do=-1.6e-02)
I pfsArm
1 = (x=2317.12, 0=1.08)
T I e 0 omr08)

e Residual*s
== Trace

1
Y=3684 (dx=8.5e-02, do=-6.6e-03)

- T pfsArm
| ™ (x=2315.69, 0=1.07)

| calExp
= (x=2315.77, 0=1.06)

e Residual*s
= Trace

H e ———

2300 2310 2320 2330

Y=982 (dx=2.1e-02, do=-8.6e-04)
T

pfsArm
- | ™ (x=2320.67,0=1.12)

calExp
= (x=2320.69, 0=1.12)

e Residual*5
== Trace

1
Y=1965 (dx=1.2e-02, do=-1.7e-02)

pfsArm
| ™ (x=2318.50, 0=1.09)

1 calExp
= (x=2318.52, 0=1.07)
e Residual*5
== Trace

Y=2947 (dx=4.6e-02, do=-1.86-02)

I pfsArm
| ™ (x=2316.68,0=1.07)

T 1 calExp
m—(x=2316.72, 0=1.06)

e Residual*5
== Trace

Y=3930 (dx=8.1e-02, do=-1.1e-02)

pfsArm
| ™ x=2315.46,0=1.07)

calExp
= (x=2315.54, 0=1.06)
m—Residual*s
- Trace

2300 2310 2320 2330



f=345, X=1975.6
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f=345, X=1975.6

Y=245 (dx=-2.0e+00, do=nan) Y=491 (dx=3.7e-01, do=-4.0e-02) Y=736 (dx=-8.8e-01, do=-1.3e+00) Y=982 (dx=-2.6e-01, do=-2.8e-01)
- pfsArm pfsArm T T pfsArm pfsArm
= (x=1973.75, 0=2.11) = (x=1974.14, 0=2.04) 1 1 = (x=1973.74, 0=2.08) = (x=1973.91, 0=2.03)
calExp calExp 1 T 1 calExp calExp
= (x=1971.73, 0=nan) = (x=1974.51, 0=2.00) = (x=1972.86, 0=0.80) . = (x=1973.65, 0=175)
m— Residual*s m—— Residual*s 1 I m— Residual*5 m—_Residual*5
_ = Trace = Trace l l = Trace
1 g 1 | L
1 1
- — v —— — - - - - — - — e f— -
] T T T T T T T T T T T
Y=1228 (dx=5.0e-02, do=-1.7e-01) Y=1473 (dx=-3.0e-01, do=-2.7e-01) Y=1719 (dx=-4.0e-01, do=-3.0e-01) Y=1965 dx—-3 2e-01, do=-1.6e- 01)
T pfsArm T pfsArm T pfsArm T pfsArm
| ™ x=1973.85, 0=2.00) | ™ (x=1973.65,0=1.97) | ™ x=1973.92,0=1.97) | ™ x=1973.95,0=1.97)
1 calExp 1 calExp _ - 1 calExp 1 calExp
= (x=1973.90, 0=1.83) = (x=1973.35, 0=1.69) a = (x=1973.53, 0=1.68) E = (x=1973.63, 0=1.81)
- I e Residual*5 I e Residual*5 I e Residual*5 I e Residual*5
1 - Trace . 1 - Trace A 1 - Trace 1 - Trace
1 1 i 1 1 1
1 1 1
{ 1
- - - — L - - - - I —
T L [
T T

Y=2210 (dx=-4.1e-01, do=-1.9e-01) Y=2456 (dx=-4.0e-01, do=-3.2e-01) Y=2702 (dx=2.5e+00, do=-5.0e-01) Y=2947 (dx=-2.2e-01, do=-8.4e-02)

- I pfsArm T = I pfsArm T I pfsArm T I pfsArm
| = (x=197372,0=1.94) | = (x=197375,0=1.94) | = x=1973.82,0=1.95) | = x=197374,0=1.94)
1 calExp 2 1 calExp 1 calExp 1 calExp
= (x=1973.31, 0=1.75) L = (x=1973.35, 0=1.62) = (x=1976.37, 0=1.46) = (x=1973.52, 0=1.86)
a I = Residual*5 I = Residual*5 I mm—_ Residual*5 I e Residual*5
| = Trace _ -I' I = tace _ I = Trace . I = Tace
| | | |
| =1 |
1
] - J= 4= _fr_- i S 4 11
|J 0 [ 1

Y=3193 (dx=-2.0e-01, do=-1.5e-01) Y=3439 (dx=-2.4e-01, do=-1.1e-01) Y=3684 (dx=-3.1e-01, do=-1.4e-01) Y=3930 (dx=1.7e-01, do=-5.0e-03)

pfsArm - pfsArm
= (x=1973.82, 0=1.95) = (x=1973.74, 0=1.94)
calExp calExp
= (x=1973.62, 0=1.80) = (x=1973.50, 0=1.83) -
e Residual*5

e Residual*5
| Trace = Trace

pfsArm pfsArm
= (x=1973.99, 0=1.96) = (x=1973.83, 0=1.95)

calExp calExp
= (x=1973.68, 0=1.82) = (x=1974.01, 0=1.95)
e Residual*s

== Trace

e Residual*s

1
|
|
1 - Trace
1
1
1

_ﬂ.
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Y=245 (dx=-1.3e-01, do=5.1e-03)

f=346, X=1969.4

Y=491 (dx=-5.1e-02, do=-2.7e-02)

Y=736 (dx=-2.3e-03, do=-3.4e-02)

Y=982 (dx=-6.2e-02, do=-1.1e-04)

T pfsArm
1 = (x=1969.12, 0=1.10)
calExp
= (x=1968.99, 0=1.11)
s Residual*s
- = Trace

T pfsArm
1 = (x=1969.12, 0=1.10)

1 calExp
= (x=1969.07, 0=1.07)

e Residual*5
== Trace

T pfsArm
1 = (x=1969.17, 0=1.10)

calExp
= (x=1969.17, 0=1.07)

= Residual*5
== Trace

T pfsArm
1 = (x=1969.24, 0=1.10)
1 calExp
= (x=1969.18, 0=1.10)
m—_Residual*5
== Trace

Y=1228'(dx=-1.2e-02, do=-2.3e-02)

Y=1473 (dx=-4.5e-03, do=8.8e-03)

Y=1719 (dx=4.1e-03, do=6.0e-03)

Y=1965 (dx=5.2e-03, do=8.3e-03)

pfsArm
| ™ (x=1969.31, 0=1.09)
1 calExp
= (x=1969.30, 0=1.07)
= Residual*5
= Trace

T pfsArm
| ™ (x=1969.36, 0=1.09)
1 calExp
- (x=1969.36, 0=1.10)
= Residual*5
= Trace

pfsArm
| ™ (x=1969.41, 0=1.08)
calExp
= (x=1969.41, 0=1.09)
= Residual*5
= Trace

7= ——————

pfsArm
| ™ (x=1969.44, 0=1.08)

1 calExp
= (x=1969.44, 0=1.09)

e Residual*5

== Trace

e Residual*5
w— Trace

1
Y=2210 (dx=4.0e-02, do=9.1e-03) Y=2456 (dx=2.1e-02, do=-6.5€-03)
I pfsArm pfsArm
| ™ (x=1969.46, 0=1.08) | ™ (x=1969.48, 0=1.07)
I [r— ((:LE{(ges,SO, 0=1.08) I r— ((:LElxgss 50, 0=1.07)

e Residual*5
= Trace

1

Y=2702 (dx=6.0e-02, do=3.4e-03)
pfsArm I
= (x=1969.49, 0=1.07) 1

calExp
= (x=1969.56, 0=1.08)
e Residual*5

= Trace

1

Y=2947 (dx=-7.4e-03, do=5.0e-03)
I pfsArm
| ™ (x=1969.50,0=1.07)

1 calExp
= (x=1969.49, 0=1.08)
e Residual*5
== Trace

Y=3193 (dx=2.3e-02, do=-5.6e-03)

Y=3439 (dx=6.3e-02, do=-1.1e-03)

Y=3684 (dx=5.7e-02, do=-1.6e-02)

Y=3930 (dx=2.8e-03, do=-2.1e-02)

pfsArm
. | =™ (x=1969.50, 0=1.07)

calExp

(x=1969.52, 0=1.07)
e Residual*5
| Trace

pfsArm
| ™ (x=1969.48, 0=1.07)

calExp
= (x=1969.54, 0=1.07)
= Residual*5
- Trace

pfsArm
| ™ (x=1969.44, 0=1.07)

| calExp

= (x=1969.50, 0=1.06)
e Residual*s

= Trace

pfsArm
| ™ (x=1969.40, 0=1.07)

| calExp

= (x=1969.40, 0=1.05)
m—Residual*s
- Trace
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Y=245 (dx=3.3e-01, do=4.9e-02)

f=571, X=579.9

Y=491 (dx=1.4e-01, do=-2.0e-02)

pfsArm pfsArm
1 = (x=579.03, 0=1.09) - 1 = (x=580.28, 0=1.10)
calExp 1 calExp

= (x=579.36, 0=1.14)
m— Residual*s
== Trace

1

1
T

1

= (x=580.43, 0=1.08)
w—— Residual*5
w | Trace

Y=1228 (dx=2.5e-02, do=-2.8e-02)

Y=1473 (dx=-1.6e-02, do=3.3e-03)

T pfsArm T pfsArm
| = (x=581.95,0=1.09) 1 = (x=582.17, 0=1.09)
1 calExp 1 calExp

= (x=581.97, 0=1.07)
mmResidual*5
== Trace

= (x=582.15, 0=1.10)
- w— Residual*5
= Trace

1
Y=2210 (dx=4.1e-04, do=6.2e-03) Y=2456 (dx=-4.0e-02, do=1.6e-03)
- T
| F:Sgénl 82, 0=1.10) 1 — {’Ii'Z'é"l.M, 0=1.10)
I = 20 o om110) | =20 40, 0m110)

m—Residual*5

m— Residual*5
w— Trace

Y=3193 (dx=-5.3e-02, do=1.4e-03)

Y=3439 (dx=-6.6e-03, do=-8.7e-03)

T pfsArm T pfsArm
1 = (x=579.18, 0=1.10) 1 = (x=577.95, 0=1.10)
| calExp -1 | calExp

= (x=579.12, 0=1.10) = (x=577.94, 0=1.09)

e Residual*5
== Trace

mm—Residual*5
= Trace

570 580 590

570 580 590

Y=736 (dx=1.6e-02, do=1.8e-02)

pfsArm
1 = (x=581.12, 0=1.09)
1 calExp

= (x=581.13, 0=1.11)
s Residual*5
- w— Trace

1
Y=1719 (dx=-6.6e-03, do=9.6e-03)
T
1 1 = r;iAsrz?;.zo,aﬂ 10)
1 calExp

= (x=582.20, 0=1.11)
w— Residual*5
= Trace

Y=2702 (dx=-4.1e-02, do=1.1e-02)

pfsArm
| = x=580.84,0=1.10)
1 calExp

m—(x=580.80, 0=1.11)
w— Residual*5
- Trace

Y=3684 (dx=-2.9e-02, do=1.9e-02)

T pfsArm

. 1 = (x=576.49, 0=1.10)
| calExp

= (x=576.47, 0=1.12)

mm Residual*5
w— | Trace

560 570 580 590

Y=982 (dx=1.5e-02, do=8.6e-03)
T

pfsArm
1 = (x=581.64, 0=1.10)

_ 1 calExp
= (x=581.65, 0=1.11)

m— Residual*5
== Trace

1
Y=1965 (dx=-7.2e-03, do=1.8e-02)
T
_ 1 — ?I?srtg.lo, 0=1.09)
1 calExp

= (x=582.09, 0=1.11)
m— Residual*s
== Trace

Y=2947 (dx=-4.3e-02, do=-6.9e-03)
T

pfsArm

1 = (x=580.13, 0=1.10)
1 calExp

m—(x=580.09, 0=1.09)

m—— Residual*5
== Trace

|
Y=3930 (dx=-5.7e-02, do=5.7e-02)
T
. 1 — Ffo:Asr;z.s‘t, 0=1.10)
| - calExp
(x=574.58, 0=1.16)

m—— Residual*5

560 570 580 590
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Y=245 (dx=2.2e-01, do=-1.3e-02)

f=575, X=555.1

Y=491 (dx=1.1e-01, do=6.0e-02)

pfsArm
= (x=554.25, 0=127)

calExp
= (x=554.47, 0=1.26)

s Residual*s

pfsArm
= (x=555.45, 0=1.14)

calExp
= (x=555.56, 0=1.20)

e Residual*s

Y=1228 (dx=1.3e-02, do=-2.6e-03)

pfsArm
1 = (x=55723, 0=1.12)

calExp
= (x=557.25, 0=1.12)
e Residual*5

= Trace

pfsArm
1 = (x=557.40, 0=1.13)

calExp
= (x=557.39, 0=1.12)

e Residual*5

Y=2210 (dx=5.9e-04, do=1.0e-02)

Y=2456 (dx=-1.6e-02, do=-2.9€-03)

pfsArm
1 = (x=557.10, 0=1.12)

calExp
(x=557.10, 0=1.13)

e Residual*5

= Trace

pfsArm
| ™ (x=556.65,0=1.15)

calExp
(x=556.63, 0=1.15)

= Residual*5

w— Trace

1 1
Y=3193 (dx=2.7e-02, do=6.7e-03) Y=3439 (dx=2.7e-02, do=2.5e-03)
T pfsArm T pfsArm
1 = (x=554.35, 0=1.13) 1 = (x=553.14, 0=1.13)
calExp - | e calExp
(x=554.38, 0=1.14) (x=553.17, 0=1.13)
e Residual*5 w— Residual*5
= i Trace
i 1
I
I

540 550 560 570

540 550 560

Y=736 (dx=3.8e-02, do=-2.7e-02)

pfsArm
1 = (x=556.32, 0=1.12)

calExp
= (x=556.36, 0=1.10)

e Residual*s

1

Y=1719 (dx=-8.0e-03, do=-7.9e-03)
T

7 1 = fﬁi‘\s'%n, 0=1.13)

calExp
= (x=557.43, 0=1.13)
= Residual*5

= Trace

1
Y=2702 (dx=-3.2e-02, do=1.4e-02)
T
1 = E):5=A5r5m6.11,0=1.13)
calExp

m—(x=556.07, 0=1.14)
= Residual*5

Y=3684 (dx=-2.6e-02, do=3.3e-02)

T pfsArm
1 I ™ (x=551.59, 0=1.15)

calExp
= (x=551.56, 0=1.18)
me Residual*5
= Trace

540 550 560

Y=982 (dx=7.2e-02, do=-2.5e-02)
T

pfsArm
| ™ (x=556.83,0=117)

calExp
= (x=556.90, 0=1.15)
e Residual*5
== Trace

Y=1965 (dx=-1.1e-02, do=3.1e-02)

- I pfsArm
1 = (x=557.34, 0=1.12)

1 calExp
= (x=557.33, 0=1.16)

e Residual*5

1

Y=2947 (dx=-4.1e-02, do=-2.2e-03)
T
1 = E’Ii‘}fs”s.sg, 0=1.13)
I r— ((:LEsxsps.zg, 0=1.13)

e Residual*5

Y=3930 (dx=-5.0e-02, do=8.0e-02)

T pfsArm
| ™ (x=549.68, 0=1.16)

calExp
= (x=549.63, 0=1.24)
= Residual*5

540 550 560
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Y=245 (dx=2.0e-01, do=2.1e-01)

f=577, X=542.7

Y=491 (dx=1.2e-01, do=-2.2e-02)

pfsArm pfsArm
= (x=541.66, 0=1.12) 1 1 = (x=543.03, 0=1.11)
calExp. 1 calExp

= (x=541.87, 0=1.33)
e Residual*s
w | Trace

= (x=543.16, 0=1.09)
e Residual*s
w | Trace

Y=1228 (dx=7.0e-02, do=-2.4e-02)

Y=1473 (dx=3.2e-03, do=-1.4e-02)

= (x=544.82, 0=1.12)

e Residual*5

== Trace

™ (x=545.00, 0=1.12)

I pfsArm I
| = (x=54475,0=1.15) 1
1 calExp 1

pfsArm

calExp
m— (x=545.00, 0=1.11)
= Residual*5

w— | Trace

i

1 1
Y=2210 (dx=2.7e-03, do=-2.8e-03) Y=2456 (dx=-9.2e-03, do=8.0e-04)
pfsArm I pfsArm I
= (x=544.62, 0=1.15) 1 = (x=544.24, 0=1.14) 1
— calExp 1  calExp 1
(x=544.62, 0=1.15) (x=544.23, 0=1.14)

= Residual*5
w— | Trace

e Residual*5
= Trace

b

1
Y=3193 (dx=-1.1e-02, do=1.7e-03) Y=3439 (dx=3.5e-03, do=2.1e-03)
pfsArm T pfsArm T
= (x=541.83, 0=1.18) 1 = (x=540.61, 0=1.17) 1
. calExp | . calExp |
(x=541.82, 0=1.18) - (x=540.61, 0=1.17)

e Residual*5
w— | Trace

e Residual*5
w— | Trace

!

530 540 550

530 540 550

Y=736 (dx=4.5e-02, do=4.1e-02)

- pfsArm
| ™ (x=543.82,0=115)

calExp
= (x=543.87, 0=1.19)
— Residual*s

== Trace

Y=1719 (dx=-3.3e-02, do=-2.4e-02)

pfsArm I

= (x=545.04, 0=1.13) 1

- calExp 1
= (x=545.01, 0=1.10)

= Residual*5
w— Trace

1
Y=2702 (dx=-4.2e-02, do=-3.2e-03)

- pfsArm I
== (x=543.61, 0=1.16) 1
calExp 1

(x=543.57, 0=1.15)
= Residual*5
= Trace

Y=3684 (dx=-3.7e-02, do=2.1e-02)

pfsArm T
= (x=539.13, 0=1.14) 1
calExp |

— = (x=539.09, 0=1.16)

= Residual*5
= Trace

530 540 550

Y=982 (dx=5.1e-02, do=-1.5e-02)

Ih

pfsArm
== (x=544.44, 0=1.13)

calExp
| ™ (x=544.49, 0=1.12)
== Residual*5

w Trace

Y=1965 (dx=9.7e-05, do=-1.7e-02)

IT

pfsArm
= (x=544.86, 0=1.17)

calExp
| === (x=544.86, 0=1.15)
= Residual*5

w  Trace

1
Y=2947 (dx=-1.5e-02, do=-4.6e-02)

pfsArm I
= (x=542.82, 0=1.18) 1

calExp 1
= (x=542.81, 0=1.13)

—| === Residual*5
= Trace

Y=3930 (dx=-6.4e-02, do=5.2e-02)

pfsArm
1 = (x=537.20, 0=1.15)
| calExp
N = (x=537.13, 0=120)

e Residual*5
= Trace

530 540 550
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Y=245 (dx=6.5e-01, do=1.2e-01)

f=578, X=536.6

Y=491 (dx=-1.1e-01, do=1.9e-01)

pfsArm
= (x=535.32, 0=1.54)
- calExp
_x= 535 97, 0=1.66)
s Residual*5 ~
= Trace
——

pfsArm
= (x=536.28, 0=1.74)

calExp
- = 236, 17,0=1.93)
e Residual*s
w | Trace

Y=1228 (dx=-

pfsArm
= (x=537.89, 0=1.86)

calExp
= (x=537.68, 0=1.92)

pfsArm
= (x=537.49, 0=2.04)

calEx

_(x= 537 46, 0=1.99)
= Residual*5’ e Residual*5
| == Trace | == Trace
H - -t 4 = -
n ﬂtﬂmL o
T T T T
Y=2210 (dx=- Y=2456 (dx=-4.0e-02, do=-7.6e-02)
pfsArm - pfsArm I
= (x=537.65, 0=1.90) = (x=537.75, 0=1.79) 1
calExp calExp
= (x=537.57, 0=1.92) = (x=537.71, 0=1.71)
= Residual*5 7| == Residual*5
— = Trace - Trace
1=l _“_ {H LU

T pfsArm
| = (x=534.07,0=2.03)
| calExp

L — (es533.94, 0=2.03)
I e Residual*5
1 = Trace

pfsArm
— == (x=533.47, 0=1.94)

calEx
- (x= 53323 0=1.92)

e Residual*5
| Trace

ot

[+

520 530 540 550

520 530 540 550

Y=736 (dx=-1.6e-01, do=1.2e-01)

pfsArm T
= (x=537.10, 0=1.78) 1
- calExp 1
_x= 536 94, 0=1.91)
m— Residual*s
== Trace
Y |
I
1
i -1l
1
1

Y=1719 (dx 1.6e- 02 do=-2.0e- 03

pfsArm I
= (x=537.31, 0=2.07)
calExp
= (x=537.33,0=2.07)
= Residual*5
== Trace

i

Y=2702 (dx—-2 9e- 02 do=-4.2e- 02)

- pfsArm
= (x=536.56, 0=1.92)

calExp
(x=536.53, 0=1.88)
e Residual*5
w— Trace
-

' :Fi;j“ n'lj]' =

Y=3684 dx 2.1e- 02 do=-6.7e- 02)

1 T

1 = (x=532.63, 0=1.85)

- calExp
- (x= 532 66, 0=1.78)

e Residual*s
= Trace

I
Hple

calExp
- = (x=530.69, 0=1.77)

520 530 540

| WHJ 1
n | ‘ 1
520

Y=982 (dx=-1.1e-01, do=2.4e-02)

!

pfsArm
= (x=538.04, 0=1.70)

calExp
_x= 537, 93, 0=1.72)
e Residual*s
== Trace

Y=1965 (dx—-8 6e- 02 do=5.3e- 03)

pfsArm
— (x=537.30, 0=2.04)

calExp
= (x=537.21, 0=2.05)
= Residual*5

= Trace

Y=2947 (dx=-2.4e-02, do=-4.5e-02)

L

pfsArm
== (x=535.09, 0=2.03)

T

|

: == ?:E:;S.OZ 0=1.98)
e Residual*5

|

|

1

= Trace

Y=3930 (dx=6.4e-02, do=-6.3e-02)

pfsArm T J
= (x=530.62, 0=1.84) 1

e Residual*5
= Trace

=1

530 540
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Y=245 (dx=3.6e-01, do=8.9e-02)

f=579, X=530.4

Y=491 (dx=1.0e-01, do=4.6e-02)

pfsArm
= (x=529.35,0=1.12)
calExp
= (x=529.71, 0=121)
— Residual*s
== Trace

| = (x=530.76, 0=1.16)

pfsArm
= (x=530.66, 0=1.11) 1

calExp

e Residual*s
= Trace

Y=1228 (dx=2.8e-02, do=2.2e-02)

Y=1473 (dx=1.5e-02, do=-7.6e-03)

= (x=532.53, 0=1.12)
e Residual*5
== Trace

I pfsArm . I pfsArm
1 = (x=532.50, 0=1.09) 1 = (x=532.68, 0=1.10)
1 calExp 1 calExp

= (x=532.69, 0=1.09)

e Residual*5
= Trace

m—(x=532.36, 0=1.12)
e Residual*5
= Trace

1 1

Y=2210 (dx=-1.2e-02, do=2.7e-02) Y=2456 (dx=-2.7e-02, do=1.5e-02)
I pfsArm T I pfsArm
1 = (x=532.37, 0=1.09) 1 = (x=531.98, 0=1.10)
I e I r— 1(>?I=E5x§1.95, 0=1.11)

= Residual*5
w— Trace

e Residual*5
= Trace

1
Y=3193 (dx=-8.6-03, do=5.7e-03) Y=3439 (dx=2.0e-02, do=6.5e-03)
T pfsArm T pfsArm
1 - (x=529.57, 0=1.10) . 1 = (x=528.32, 0=1.10)
| calExp | e calExp
(x=529.56, 0=1.10) (x=528.34, 0=1.10)

= Residual*5
w— Trace

520 530 540

520 530 540

Y=736 (dx=7.5e-02, do=1.3e-02)

pfsArm T
= (x=531.55, 0=1.10) 1
calExp 1

= (x=531.63, 0=1.12)
wm— Residual*s
== Trace

1
Y=1719 (dx=-5.3e-03, do=-1.4e-02)
- T
1 = r;i2r3n;.72, 0=1.10)
1 — calExp
(x=532.72, 0=1.08)
7 w— Residual*5

i Trace

| == Trace

. 1 calExp
= (x=532.60, 0=1.11)

1
Y=2702 (dx=-4.9e-02, do=1.3e-02)
. T
1 = F:iASr3m1.36,0=1.10)
1 calExp

m—(x=531.31, 0=1.11)
= Residual*5
| Trace

4 1 = (x=530.57, 0=1.10)

Y=3684 (dx=-3.1e-02, do=1.8e-02)

pfsArm
. I = (x=526.75,0=1.10)
| calExp
m—(x=526.72, 0=1.12)
= Residual*5
- Trace

510 520 530 540

Y=982 (dx=2.4e-02, do=2.3e-02)

pfsArm T
= (x=532.17, 0=1.10) 1
calExp 1

= (x=53220, 0=1.12)
m— Residual*s

1

Y=1965 (dx=-2.3e-02, do=2.0e-02)
T
1 = ?:iASrg‘Z.GZ,a:I.OSD

e Residual*5
= Trace

1
Y=2947 (dx=-3.9e-02, do=-4.0e-03)
T

pfsArm

1 calExp
m—(x=530.53, 0=1.09)

e Residual*5
== Trace

1
Y=3930 (dx=-4.6e-02, do=>5.6e-02)
T
T | - E):S:A;;z.so, 0=1.10)
| = (c:I:ESX;AJG, 0=1.16)

N e Residual*5
= Trace

510 520 530 540
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Y=245 (dx=6.0e-02, do=-6.5e-02)

f=580, X=524.2

Y=491 (dx=2.3e-01, do=1.1e-01)

Y=736 (dx=6.8e-02, do=3.3e-02)

I
il

pfsA
= (x=526.39, 0=173)

calEx
- x= 526 51, 0=1.65)

e Residual*5
= Trace

J_,- L

Y=2210 (dx 3.8e-02

,'do=-1.1e-01)

= (x=526.45, 0=1.76)

_(x= 526 75, 0=1.57)
= Residual*5

pfsArm

calEx

T pfsArm pfsArm I. k pfsArm
== (x=523.10, 0=1.41) - = (x=524.26, 0=1.65) === (x=525.28, 0=1.66)
T (Cf‘Eszs 16, 0=1.34) "t I~ f:lEsu 49, 0=1.76) T (CflEszs 34, 0=1.69)
m— Residual*s m—— Residual*s ) [ = Residual*5
== Trace L w— | Trace I = Trace
- E N L
- —— - I — — - I — — — - —
B
| 1
Y=1228 (dx= 1.2e- 01, do=-8.1e- 02) Y=1473 (dx 3.0e- 01, do=-1.9e-01) 719 (dx—-5 6e-03, do=-8.8e- 02)

g

J'I

=]

fsA
N (x 526.47, 0=1.81)

calExp
= (x=526.46, 0=172)

= Residual*5
= Trace

il

Y=2702 (dx=1.7e-01, do=-9.9e-02)

I

i

H|

pfsArm
= (x=525.55, 0=1.81)

calExp
m—(x=525.72, 0=1.72)

e Residual*5
w— | Trace

“ C

0

Y=982 (dx=6.4e-02, do=-5.2e-02)

pfsArm
= (x=526.25, 0=1.75)

calEx|
- x= 526 32, 0=1.70)
| == Residual*s
== Trace

i

Y=1965 (dx=2.8e-01, do=-1.8e-01)

pfsArm I
= (x=526.50, 0=1.77) 1
calExp
= (x=526.77, 0=1.60)
= === Residual*5
- Trace 1
I -
-
- — — — I

_-j.1_ L

i

1
Y=2947 (dx=1.2e-01, do=-1.8e-01)

= (x=524.58, 0=1.83)

calExp
== (x=524.70, 0=1.65)
e Residual*s
= Trace

ot

510

520

510 520

T
I H L prsArm T :I:I' 9
1 = (x=525.65, 0=1.76) 1
calExp
- = (x=525.66, 0=1.77)
1 e PFSAT m— ResidUal*5
(526,51, 0=180) = Trace "~
calExp -
- (x=526.55, 0=1.69)
e Residual*5
1 - Trace
T T T
Y=3193 (dx=8.6e-02, do=-2.0e- 01 Y= 3439 (dx=3.0e-02, do=-1.1e-01)
L T T
| T 1
1 1 1
ﬁ pfsArm pfsArm
(x=523.61, 0=187) = (x=522.61, 0=1.85)
1 ™71 (c;‘Esza 69, 0=1.67) 7 1 e (cflEszz 64, 0=1.74)
b 1 | = residuars — Residual*s
I = Trace w= | Trace
(5]
P 1 1 A
r il
T T T
530 530

== (x=520.61, 0=1.87)
calExp
= (x=520.64, 0=1.72)
= Residual*5
= Trace

AT

520

530

Y=3684 (dx=2.8e-02, do=-1.5e-01) Y=3930 (dx=1.3e-01, do=-8.5e-02)
T T
L i
| n
pfsArm pfsArm

= (x=518.61, 0=1.87)
calExp

= (x=518.73, 0=1.79)

== Residual*5

== Trace

Rimiy
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520




f=581, X=518.0

Chi

Shift measure

____:_4____ ju ___________ﬂ-__a_____. A _

__-_P________"1__2______-__—_______ Il
LI |

n i ‘_ ] __F_____

s._?zrka__n i

Residual

520

510

- 400
300

calexp

3500
3000
2500

o
o
o
<

2000

(x1d

~

A

1500

1000

520

510

500

Chi at each row

Chi+ - Chi-

X (pix)



Y=245 (dx=3.2e-01, do=2.0e-01)

f=581, X=518.0

Y=491 (dx=1.1e-01, do=5.4e-03)

pfsArm
= (x=516.85, 0=1.16) 1

calExp
= (x=517.17, 0=1.36)
m—_Residual*5
w | Trace

pfsArm
= (x=518.27, 0=1.11) 1

calExp
= (x=518.39, 0=1.11)
e Residual*s
w | Trace

pfsArm
= (x=520.14, 0=1.13)
calExp
= (x=520.17, 0=1.13)
7| m—Residual*s
= Trace

pfsArm
= (x=520.33, 0=1.14) 1

- calExp
= (x=520.30, 0=1.13)
e Residual*5

= Trace

1
Y=2210 (dx=-5.5e-02, do=5.9e-04) Y=2456 (dx=-2.5e-02, do=9.0e-02)
pfsArm I - pfsArm I
= (x=520.04, 0=1.17) 1 = (x=519.52, 0=1.13) 1
— calExp 1  calExp
(x=519.99, 0=1.17) (x=519.50, 0=1.22)

= Residual*5

e Residual*5
w— Trace

Y=3439 (dx=-5.7€-02, do=8.0e-02)

pfsArm
= (x=517.21, 0=1.20)

calExp

(x=517.15, 0=1.19)
= Residual*5
w— | Trace

pfsArm
= (x=515.79, 0=1.20)

calExp
(x=515.73, 0=1.28)

e Residual*5
| Trace

500 510 520 530

Y=736 (dx=4.2e-02, do=3.9e-02)

pfsArm T
= (x=519.18, 0=1.11) 1

calExp
= (x=519.22, 0=1.15)
wm— Residual*s
== Trace

Y=1719 (dx=-3.3e-02, do=3.3e-02)

pfsArm I
= (x=520.37, 0=1.14) 1
calExp 1
= (x=520.34, 0=1.17)
w—Residual*5 1
- Trace ]

LT

Y=2702 (dx=-9.7e-02, do=2.5e-02)

pfsArm I
= (x=519.02, 0=1.19) 1
calExp

m—(x=518.93, 0=1.21)
e Residual*5
= Trace

1T

Y=3684 (dx=-9.0e-02, do=3.1e-02)

pfsArm T
= (x=514.37, 0=1.20) 1

calExp |
= (x=514.28, 0=1.23)

e Residual*5

500 510 520 530

Y=982 (dx=2.7e-02, do=4.1e-02)

pfsArm T

= (x=519.71, 0=1.13) 1
calExp -
- = (x=519.74, 0=1.18) —

e Residual*5
== Trace

pfsArm
= (x=520.28, 0=1.15)
calExp
= (x=520.18, 0=1.14)
7| == Residual*s

= Trace -

Y=2947 (dx=-1.3e-01, do=-2.3e-02)

T pfsArm I
= (x=518.22, 0=1.19) 1

calExp 1
_| = (x=518.09, 0=1.17)

e Residual*5

= Trace
T T C
Y=3930 (dx=-7.2e-03, do=2.7e-02)
pfsArm T
= (x=512.40, 0=121) 1
calExp |
- = (x=512.39, 0=1.23)
= Residual*5
= Trace

500 510 520
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f=631, X=207.2

Y=245 (dx=-1.3e+00, do=-5.7e-01) Y=491 (dx=-8.5e-01, do=-4.0e-01) Y=736 (dx=-4.9e-01, do=-2.4e-01) Y=982 (dx=-6.1e-01, do=-3.9e-01)
- T pfsArm T pfsArm T pfsArm
| | | | |-| | - 1 = (x=205.89, 0=1.94) 1 = (x=206.41, 0=1.84) 1 = (x=207.64, 0=1.90)
1 ™1 | f:fzxgs.os, 0=1.55) 1 = (CSLszgs.gz, 0=1.60) 1 — (c:|=E2xg7.03, 0=1.51)
pfSArm 1 1 m— Residual*5 1 m— Residual*5 1 e Residual*s
47 (XI=E204‘43V 0=187) -I- l = Trace - l = Trace -1 l w Trace
e 20 1 o 1 | |
(x=203.11, 0=1.30) =
m— Residual*5 N 1 J 1
== Trace I
= L .m B E
Y=1228 (dx=-2.2e-01, do=-2.6e-01) Y=1473 (dx=-8.4e-02, do=-1.6e-01) Y=1719 (dx=-9.4e-02, do=-7.5e-02) Y=1965 (dx=-1.8e-01, do=-9.9e-02)
T ] T T T
- 1 = F;sjzrg; 02, 0=1.95) 1 — r;?zm.m,a:l 89) 1 — F;i/;rg;a.41,a=1.sz) 1 — ?:igr(;g.a7,a=1.59)
L 1 calExp 1 calExp 1 calExp - 1 calExp
= (x=208.79, 0=1.69) = (x=208.56, 0=1.74) = (x=208.32, 0=175) = (x=208.48, 0=1.79)
-I- : e Residual*5 : = Residual*5 ] : = Residual*5 : = Residual*5
- = Trace i - Trace N - Trace = = Trace
7] 1 1 1 - 1
1 1
* I 1
1 I
Rwin et inmcdBRLERa] {iin
L C - |I T ) |I T A |I T r! T T
Y=2210 (dx=-7.9e-02, do=-1.5e-01) Y=2456 (dx=-2.5e-02, do=-5.0e-02) Y=2702 (dx=7.3e-04, do=-7.8e-02) Y=2947 (dx=-8.7e-02, do=-1.3e-01)
= I I -1 I SArm I 'SArm
L 1 = F:iAzrgz‘z 86, 0=1.95) _ 1 — 5:1%'17.34,@1 80) 1 — :):=A206.01,0=1.64) 1 — F:=A205.01,0=1.63D
| 1 — calExp 1 — calExp | calExp _ 1 —
(x=208.78, 0=1.80) (x=207.32, 0=1.75) (x=206.01, 0=1.56) (x=204.92, 0=1.50)
: e Residual*5 : = Residual*5 T : = Residual*5 : = Residual*5
- Trace - Trace - Trace - Trace
1 ] 1 1 i 1
1 1 ] 1 1
1 ; 1 1 1
| I !
Y=3193 (dx=-1.1e-01, do=-8.8e-02) Y=3439 (dx=-2.7e-01, do=-1.3e-01) Y=3684 (dx=-3.9e-01, do=-2.5-01) Y=3930 (dx=-3.0e-01, do=-1.2e-01)
-1 I 'SArm I 'SArm I SArm N I fSArm
L 1 = E::Azoms‘t, 0=1.88) J 1 e r;fzoz‘za,o:us) 1 e K:\zoo.ﬁ, 0=1.86) 1 — F:=A1.97.25,U=1.78)
| calExp -1 1 | e calExp | e calExp | calExp
(x=204.43, 0=1.79) (x=201.97, 0=1.63) (x=200.14, 0=1.60) (x=196.95, 0=1.66)
T I e Residual*s I = Residual*5 -1 I = Residual*5 7 I = Residual*5
L 1 1 - Trace 1 - Trace 1 - Trace
1 - u 1 1 1
. I = I I 1 i I
1 H : a 1
d = r e - . - i - - d = [ = - - W
T T T 1 T T It T -I I| T
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Y=245 (dx=3.7e-01, do=8.8e-02)

f=632, X=201.0

Y=491 (dx=1.6e-01, do=5.8e-02)

= (x=199.66, 0=1.19)
w— Residual*5
== Trace

pfsArm pfsArm
= (x=199.29, 0=1.10) 1 = (x=201.21, 0=1.10)
calExp 1 calExp

= (x=201.37, 0=1.15)
e Residual*s
w | Trace

Y=1228 (dx=6.7e-02, do=1.1e-03)

Y=1473 (dx=2.8e-02, do=-9.4e-03)

I pfsArm I pfsArm
1 = (x=203.99, 0=1.10) 1 = (x=204.28, 0=1.10)
1 calExp 1 calExp

= (x=204.06, 0=1.10) T = (x=204.31, 0=1.09)

e Residual*5
= Trace

e Residual*5
= Trace

1
Y=2210 (dx=8.9e-03, do=1.2e-02) Y=2456 (dx=-1.2e-02, do=-6.5e-03)
I pfsArm I pfsArm
| ™ x=20387,0=117) 1 = (x=203.39, 0=1.11)
I r— (C;‘:E;gz 88, 0=1.19) I r— SI:EZX(?SJB, 0=1.11)

e Residual*5
= Trace

= Residual*5

1 1
Y=3193 (dx=-4.0e-02, do=1.3e-02) Y=3439 (dx=4.4e-02, do=2.1e-02)
T pfsArm _ T pfsArm
1 = (x=200.18, 0=1.12) 1 = (x=198.43, 0=1.13)
1 = rf‘:szgo 14, 0=1.13) 1 — lch:EIXQpSAI 0=1.15)

e Residual*5
= Trace

1 = Residual*5

= Trace

190 200 210

190 200 210

Y=736 (dx=9.7e-02, do=4.7e-02)

Y=982 (dx=1.0e-01, do=3.2e-02)

N T pfsArm T pfsArm
1 = (x=202.51, 0=1.11) 1 = (x=203.40, 0=1.11)

1 calExp 1 calExp
= (x=202.61, 0=1.16) = (x=203.50, 0=1.14)

e Residual*s
= Trace

Y=1719 (dx=-4.7e-03, do=-7.9e-03)

. I pfsArm
1 == (x=204.38, 0=1.10)

1 calExp
= (x=204.37, 0=1.10)

e Residual*5

pfsArm
1 = (x=204.27, 0=1.10)
1 calExp
1 = (x=204.26, 0=1.11)
= Residual*5
= Trace

Y=2702 (dx=-4.4e-02, do=-6.1e-03)

pfsArm
1 = (x=202.58, 0=1.13)
1 calExp

= (x=202.53, 0=1.13)
= Residual*5
| Trace

Y=3684 (dx=-2.3e-02, do=4.5e-02)

T T pfsArm
1 = (x=196.27, 0=1.12)

| calExp
- (x=196.25, 0=1.17)

e Residual*5
w— | Trace

180 190 200 210

e Residual*5
== Trace

Y=1965 (dx=-6.6e-03, do=9.0e-03)
T

1

Y=2947 (dx=-4.5e-02, do=-2.8e-03)
T
1 = E):iAzr(Tl.sz,uﬂ.lBh
1 e ((:351.48, 0=1.13)

e Residual*5
== Trace

Y=3930 (dx=-4.2e-02, do=7.8e-02)

T pfsArm
1 = (x=193.54, 0=1.13)
| calExp

= (x=193.50, 0=1.21)

e Residual*5
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Y=245 (dx=3.4e-01, do=-3.4e-02)

f=633, X=194.8

Y=491 (dx=1.1e-01, do=8.9e-02)

-1 pfsArm T
= (x=193.12, 0=1.20) 1
calExp l
_ = 193 46, 0=1.16)
s Residual*s
w | Trace
—
- .n e ]

- calExp

pfsArm T
= (x=194.94, 0=1.14) 1

_(x= 195 05, 0=1.23) I
— Residual*s

= Trace

7| = Trace

Y=1228 (dx=3.4e-02, do=1.3e-02)

pfsArm I
= (x=197.76, 0=1.14) 1

i calExp

= (x=197.80, 0=1.15)
= Residual*5
= Trace

i

| == Residual*5

pfsArm
m—(x=198.14, 0=1.19) 1

calEx
_(x= 198 19, 0=1.15)

i Trace

- = (x=198.23, 0=1.19) 1

Y=2210 (dx 1.8e- 02 do=-2.4e- 02

= Residual*5
w— Trace

=

pfsArm I pfsArm I
= (x=197.72, 0=1.16) 1 = (x=197.23, 0=1.18) 1
calExp 1 calExp
- == (x=197.74, 0=1.14) = (x=197.21, 0=1.15)

e Residual*5
w— Trace

— ™ (x=196.38, 0=1.14)

calExp |
= (x=193.90, 0=1.14)
= Residual*5

- calEx| 1

1 1

Y=3193 (dx=-2.0e-02, do=-5.0e-03) Y=3439 (dx=1.8e-02, do=5.0e-03)
pfsArm T pfsArm T
= (x=193.92, 0=1.14) 1 = (x=192.24, 0=1.19) 1

]
= (x=192.26, 0=1.19)
= Residual*5

- Trace

| w— | Trace I
1 !

1
0

180 190 20

180 190 200

pfsArm T
= (x=190.08, 0=1.19) 1
- calExp |
= (x=190.08, 0=1.24)
e Residual*5
= Trace
|

Y=736 (dx=1.5e-01, do=-2.2e-02)

pfsArm
= (x=196.35, 0=1.20) 1

calExp
= (x=196.50, 0=1.17)

wm— Residual*s

AL

E calExp

pfsArm

calExp
= (x=198.23, 0=1.15)
= Residual*5

== Trace

= = (x=198.12, 0=1.18) 1

pfsArm T
= (x=196.41, 0=1.17) 1
calExp

e Residual*5
= Trace

!

p
| = (x=195.34, 0=1.16)

Y=3684 (dx—-3 le- 04 do=4.8e- 02

180 190

Y=982 (dx=1.2e-01, do=-4.3e-02)

pfsArm
= (x=197.24, 0=1.19) 1

= (x=197.36, 0=1.15)
e Residual*5
== Trace

Y=1965 (dx=-7.2e-03, do=-2.2e-02)

|

pfsArm T

calExp

= (x=198.11, 0=1.16)
e Residual*5

= Trace

1

Y=2947 (dx=-1.3e-02, do=-9.1e-03)
T

= E):iqr;“s.zs,u=1.17; 1

calEx|

e Residual*5
= Trace

1
Y=3930 (dx=-5.6e-02, do=4.1e-02)

pfsArm T
— = (x=187.33, 0=1.18) 1
calEx| |
- (x= 18727 0=122)
= Residual*5
- Trace ]
1
1
1
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